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				注意事项

				一、将自己的校名、姓名、准考证号写在答题卡1和答题卡2上。将试题册背面条形码粘贴条揭下后粘贴到答题卡1上的条形码粘贴位置。

				二、试卷册、答题卡1和答题卡2均不得带出考场。考试结束，监考员收卷后考生才可离开。

				三、仔细读懂题目的说明。

				四、在30分钟内做完答题卡1上的作文题。之后将进行听力考试，听力录音播放完毕后，监考员收取答题卡1，考生在答题卡2上完成其余部分的试题。全部答题时间为130分钟，不得拖延时间。

				五、考生必须在答题卡上作答，凡是写在试题册上的答案一律无效。

				六、多项选择题每题只能选一个答案；如多选，则该题无分。选定答案后，用HB-2B 浓度的铅笔在相应字母的中部划一条横线。

				正确方法是：［A］ ［B］ ［C］ ［D］。

				使用其他符号答题者不给分。划线要有一定粗度，浓度要盖过字母底色。

				七、如果要改动答案，必须先用橡皮擦净原来选定的答案，然后再按规定重新答题。

				八、在考试过程中要注意对自己的答案保密。若被他人抄袭，一经发现，后果自负。


				



			

	





			
				Part I  Writing  (30 minutes)

				Directions: For this part, you are allowed 30 minutes to write an essay commenting on the remark "A smile is the shortest distance between two people." You can cite some examples to illustrate your point. You should write at least 150 words but no more than 200 words.


				


				

				


				

				


				

				


				

				


				

				


				

				


				

				【答案精解】


				


				Part II  Listening Comprehension (30 minutes)

				Section A


				Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversation and the questions will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C) and D), and decide which is the best answer. Then mark the corresponding letter on Answer Sheet 1 with a single line through the centre.


				  1. A) She has completely recovered.

				B) She went into shock after an operation.

				C) She is still in a critical condition.

				D) She is getting much better.

				【答案精解】


				  2. A) Ordering a breakfast.

				B) Booking a hotel room.

				C) Buying a train ticket.

				D) Fixing a compartment.

				【答案精解】


			

			
				  3. A) Most borrowers never returned the books to her.

				B) The man is the only one who brought her book back.

				C) She never expected anyone to return the books to her.

				D) Most of the books she lent out came back without jackets.

				【答案精解】


				  4. A) She left her work early to get some bargains last Saturday.

				B) She attended the supermarket's grand opening ceremony.

				C) She drove a full hour before finding a parking space.

				D) She failed to get into the supermarket last Saturday.

				【答案精解】


				  5. A) He is bothered by the pain in his neck.

				B) He cannot do his report without a computer.

				C) He cannot afford to have a coffee break.

				D) He feels sorry to have missed the report.

				【答案精解】


				  6. A) Only top art students can show their works in the gallery.

				B) The gallery space is big enough for the man's paintings.

				C) The woman would like to help with the exhibition layout.

				D) The man is uncertain how his art works will be received.

				【答案精解】


				  7. A) The woman needs a temporary replacement for her assistant.

				B) The man works in the same department as the woman does.

				C) The woman will have to stay in hospital for a few days.

				D) The man is capable of dealing with difficult people.

				【答案精解】


				  8. A) It was better than the previous one.

				B) It distorted the mayor's speech.

				C) It exaggerated the city's economic problems.

				D) It reflected the opinions of most economists.

				【答案精解】


				


				Questions 9 to 12 are based on the conversation you have just heard.


				  9. A) To inform him of a problem they face.

				B) To request him to purchase control desks.

				C) To discuss the content of a project report.

				D) To ask him to fix the dictating machine.

			

			
				【答案精解】


				10. A) They quote the best price in the market.

				B) They manufacture and sell office furniture.

				C) They cannot deliver the steel sheets on time.

				D) They cannot produce the steel sheets needed.

				【答案精解】


				11. A) By marking down the unit price.

				B) By accepting the penalty clauses.

				C) By allowing more time for delivery.

				D) By promising better after-sales service.

				【答案精解】


				12. A) Give the customer a ten percent discount.

				B) Claim compensation from the steel suppliers.

				C) Ask the Buying Department to change suppliers.

				D) Cancel the contract with the customer.

				【答案精解】


				


				Questions 13 to 15 are based on the conversation you have just heard.


				13. A) Stockbroker.

				B) Physicist.

				C) Mathematician.

				D) Economist.

				【答案精解】


				14. A) Improve computer programming.

				B) Explain certain natural phenomena.

				C) Predict global population growth.

				D) Promote national financial health.

				【答案精解】


				15. A) Their different educational backgrounds.

				B) Changing attitudes toward nature.

				C) Chaos theory and its applications.

				D) The current global economic crisis.

				【答案精解】


				


				Section B


			

			
				Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A), B), C) and D). Then mark the corresponding letter on Answer Sheet 1 with a single line through the centre.


				Passage One


				Questions 16 to 18 are based on the passage you have just heard.


				16. A) They lay great emphasis on hard work.

				B) They name 150 star engineers each year.

				C) They require high academic degrees.

				D) They have people with a very high IQ.

				【答案精解】


				17. A) Long years of job training.

				B) High emotional intelligence.

				C) Distinctive academic qualifications.

				D) Devotion to the advance of science.

				【答案精解】


				18. A) Good interpersonal relationships.

				B) Rich working experience.

				C) Sophisticated equipment.

				D) High motivation.

				【答案精解】


				


				Passage Two


				Questions 19 to 21 are based on the passage you have just heard.


				19. A) A diary.

				B) A fairy tale.  

				C) A history textbook.

				D) A biography.

				【答案精解】


				20. A) He was a sports fan.

				B) He loved adventures.  

				C) He disliked school.

				D) He liked hair-raising stories.

				【答案精解】


				21. A) Encourage people to undertake adventures.

			

			
				B) Publicize his colorful and unique life stories.

				C) Raise people's environmental awareness.

				D) Attract people to America's national parks.

				【答案精解】


				


				Passage Three


				Questions 22 to 25 are based on the passage you have just heard.


				22. A) The first infected victim.

				B) A coastal village in Africa.

				C) The doctor who first identified it.

				D) A river running through the Congo.

				【答案精解】


				23. A) They exhibit similar symptoms.

				B) They can be treated with the same drug.

				C) They have almost the same mortality rate.

				D) They have both disappeared for good.

				【答案精解】


				24. A) By inhaling air polluted with the virus.

				B) By contacting contaminated body fluids.

				C) By drinking water from the Congo River.

				D) By eating food grown in Sudan and Zaire.

				【答案精解】


				25. A) More strains will evolve from the Ebola virus.

				B) Scientists will eventually find cures for Ebola.

				C) Another Ebola epidemic may erupt sooner or later.

				D) Once infected, one will become immune to Ebola.

				【答案精解】


				Section C


				Directions: In this section, you will hear a passage three times. When the passage is read for the first time, you should listen carefully for its general idea. When the passage is read for the second time, you are required to fill in the blanks with the exact words you have just heard. Finally, when the passage is read for the third time, you should check what you have written.


				The ideal companion machine would not only look, feel, and sound friendly but would also be programmed to behave in an agreeable manner. Those (26) __________ that make interaction with other people enjoyable would be simulated as closely as possible, and the machine would appear to be (27) __________, stimulating, and easygoing. Its informal conversational style would make interaction comfortable, and yet the machine would remain slightly (28) __________ and therefore interesting. In its first (29) __________ it might be somewhat hesitant and unassuming, but as it came to know the user it would progress to a more (30) __________ style. The machine would not be a passive (31) __________ but would add its own suggestions, information, and opinions; it would sometimes take the (32) __________ in developing or changing the topic and would have a (33) __________ of its own.

			

			
				The machine would convey presence. We have all seen how a computer's use of personal names often fascinates people and leads them to treat the machine as if it were almost human. Such features are easily written into the software. By introducing (34) __________ forcefulness and humor, the machine could be presented as a vivid and unique character.

				Friendships are not made in a day, and the computer would be more acceptable as a friend if it simulated the (35) __________ that occur when one person is getting to know another. At an appropriate time it might also express the kind of affection that stimulates attachment and intimacy.

				【答案精解】

				


				Part III  Reading Comprehension (40 minutes) 

				Section A


				Directions: In this section, there is a passage with ten blanks. You are required to select one word for each blank from a list of choices given in a word bank following the passage. Read the passage through carefully before making your choices. Each choice in the bank is identified by a letter. Please mark the corresponding letter for each item on Answer Sheet 2 with a single line through the centre. You may not use any of the words in the bank more than once.


				Questions 36 to 45 are based on the following passage.


				The central notion of social learning theories is that people learn attitudes, beliefs, and behaviors through social     36    . The learning is a result of reinforcement, imitation, and modeling.

				Reinforcement occurs when we receive direct or indirect rewards or punishments for particular     37     role behaviors. For example, a little girl who puts on her mother's makeup may be told that she is cute, but her brother who does the same thing will be     38    . Children also learn gender roles through     39     reinforcement. For example, if a little boy's male friends are punished for crying, he will learn that "boys don't cry.”

				Children also learn to     40     as boys or girls through observation and imitation. Even when children are not directly rewarded or punished for "behaving like boys" or "behaving like girls," they learn about gender by     41     who does what in their families. A father who is     42     at home because he's always working sends the message that men are supposed to earn money. A mother who is always complaining about being overweight or old sends the message that women are supposed to be thin and young.

				Because parents are emotionally important to their children, they are typically a child's most     43     role models. Other role models include caregivers, teachers, friends, and celebrities. According to a multiethnic study of Los Angeles adolescents, teenagers who said that their role model was someone they knew, e.g. a parent, relative, friend, or doctor outside the family, had higher self-esteem, higher grades, and lower     44     use than peers whose role models were sports figures, singers, or other media characters. The researchers concluded that role model selection can have a positive or negative outcome on a teenager's     45     development.

			

			
				
					
						
								
								A) psychosocial

							
								
								I) scolded

							
						

						
								
								B) gender

							
								
								J) watching

							
						

						
								
								C) praised

							
								
								K) substance

							
						

						
								
								D) indirect

							
								
								L) connection
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								G) simulating

							
								
								O) powerful

							
						

						
								
								H) interaction

							
								
							
						

					
				

				


				【答案精解】


				


				Section B


				Directions: In this section, you are going to read a passage with ten statements attached to it. Each statement contains information given in one of the paragraphs. Identify the paragraph from which the information is derived. You may choose a paragraph more than once. Each paragraph is marked with a letter. Answer the questions by marking the corresponding letter on Answer Sheet 2.


				High-intensity Weight Training


				A) Once a week, Maurice Hank Greenberg, the former chief executive of insurer AIG, leaves his Park Avenue office and travels across New York's Central Park to a basement crowded with Rube Goldberg-esque machines in a brownstone building on the trendy Upper West Side. While Mr. Greenberg is renowned for his strong views on business, this crowded room is where the 87-year-old builds his remarkable physical strength.

				B) Greenberg is among a small group of busy New York executives who make a pilgrimage (朝圣之旅) to a place called Serious Strength, a gym that specializes in a technique called high-intensity resistance training, to get a complete body workout in just 30 minutes a week. Unlike spending hours jogging on treadmills or pedaling exercise bikes, high-intensity weight training promises all the benefits of aerobics (有氧运动) plus more strength in just a fraction of the time of conventional workouts.

				C) "The amount of weight I can push or pull is multiples of my own strength," boasts Greenberg, who is now chairman and CEO of CV Star & Co, a financial services firm. "I'm exercising more strenuously than I ever have in my life. In just 30 minutes a week you can see progress in what you're doing and how good you feel.”

				D) While high-intensity weight training has been practiced since the 1980s, when an entrepreneur named Arthur Jones began making gym equipment under the Nautilus brand, the technique has only recently garnered sufficient scientific support to back up its superiority as a workout.

				E) Books such as Body By Science, by a South Carolina-based emergency room physician named Doug McGuff, and The Slow Burn Fitness Revolution, by Fred Hahn, who owns Mr. Greenberg's gym in New York, describe the scientific basis for exercising compound groups of muscles to total exhaustion using very slow movements. In practice, that means five or six exercises done for just five to six super slow repetitions, or just 15 minutes of actual lifting. Some adherents, such as McGuff, believe that just one workout a week is sufficient, while Hahn and others prefer two workouts.

			

			
				F) Hahn points out that high-intensity resistance improves blood pressure, increases the level of good cholesterol (胆固醇) in your blood, lowers triglyceride (甘油三酸酯) levels, maintains blood sugar, helps with insulin sensitivity and builds not only muscular strength but muscular endurance. McGuff, meanwhile, flags up the medical benefits of the high-intensity workout, which he says can help eliminate "diabetes, hypertension, gout, hypercholesterolemia, and all the consequences of being sedentary and eating a diet of fast food.”

				G) Although exercise fads come and go, high-intensity is in the unusual position of advocating that people actually practice it less. Hardcore bodybuilders have raised doubts about whether the system is really superior to their many hours spent in the gym, but proponents such as Hahn say that while you can build muscle in long workouts, why bother when less time spent in the gym can produce such good results. Proponents also point out that everyone has a genetic limit to how strong they can get or how big their muscles will grow, no matter how much exercise they do.

				H) Perhaps counter-intuitively (与直观感受相反地), the high-intensity method seems to have gained more popularity in Europe than in the fitness-crazed US, where it faded from the cover of magazines after a brief surge in popularity about 10 years ago. McGuff thinks this is partly explained by the fact that recent scientific support for the method comes largely from European and Canadian universities. Another reason consists in Europe people's lack of the culture of "more is better" that North Americans have. This work ethic where the answer is always to do more and do it harder makes people a lot more skeptical about an exercise system that restricts volume and frequency as a way to get results.

				I) While it is possible to do a high-intensity workout with barbells or even body weight, most gyms that specialize in high-intensity use machines originally designed by Jones such as Nautilus and Med-X. This is because it can be dangerous to lift a heavy free weight to exhaustion. These machines involve rotation around several joints, working a large group of muscles at one time, reducing the overall time in the gym.

				J) At least initially, the workout consists of what is termed "the big five" —a seated row, chest press, pull-down, overhead press and leg press, each done for about 90 seconds. McGuff says he even gets good results doing just three exercises, provided they are done extremely slowly and to complete exhaustion, followed by several days of recuperative  (恢复性的) rest.

				K) One company that has capitalized on the workout's appeal to businesspeople is Kieser Training, a Zurich-based group that has set up many high-intensity gyms in Europe and Asia. "We target the professional, middle-aged executive who wants to exercise in a serious manner," says Marcel Haasters, a German who runs the Kieser Training gym in London's Camden Town. "There is no music, no mirrors on the wall and no juice bar. It's not for typical gym users but people who don't like  typical gyms."

				L) Kieser appeals especially to mobile executives because for a￡580 annual fee, travelling businessmen can use any gym in the Kieser Training system from Zurich to Australia. The gym uses special machines licensed from the late Arthur Jones's estate and features rehabilitative  (使复原的) training as well as pure exercise.

				M) Steven Bailey, a video games analyst for Screen Digest who lives near the City of London, says he has been doing the Kieser Training for three years and that it has changed his life. Bailey feels it's great for people like him who has a sedentary lifestyle and sit at a desk all day. Before Kieser he used to collapse around 3pm but now he has a lot more energy.

			

			
				N) A particularly impressive piece of equipment offered by Kieser Training looks like something out of the Spanish Inquisition  (宗教法庭). Once you are strapped down and screwed into the machine, your lower body and hips are immobilized, which allows it to measure accurately the strength of your lower back muscles— which are often the bane of desk-bound executives. The Kieser machine has a computer database that compares your back strength to other individuals of your age group, and is then capable of training your back to make the muscles stronger.

				O) Alastair McLellan, who uses the gym in Camden Town, started the workout about six years ago to help with his bad back. According to the 48-year-old editor of the Health Service Journal, the fact that he can build the strength in just one short session a week and solve his back problem makes it very good use of his time. It's also allowed him to do a lot more exercise. He now cycles to work most days.

				P) However, the workout's proponents admit that while the method has many benefits, a high-intensity workout or any gym programme is unlikely to help executives completely lose those unsightly guts gained from years of eating expense-account lunches. For that, dietary changes are the most important ingredient.

				46. Some books on health give a scientific account of how slow movements are used to practice muscles.

				【答案精解】


				47. By exercising with machines devised by Jones, fitness lovers can train a large group of their muscles at one time and shorten the total exercise time.

				【答案精解】


				48. High-intensity training has recently received enough scientific support to prove its effectiveness of keeping good health.

				【答案精解】


				49. At first, high-intensity training includes five kinds of exercises and each lasts for around one and a half minute.

				【答案精解】


				50. A video games analyst thinks it's suitable for people sitting at a desk all day to do high-intensity exercises in the gym of Kieser Training.

				【答案精解】


				51. A few business managers spend time on high-intensity resistance training regularly.

				【答案精解】


				52. Exercising in a highly intense way cannot only make strong and enduring muscles, but also has some other benefits.

				【答案精解】


				53. For senior managerial staff, the key to keeping good health is improving the food structure.

				【答案精解】


				54. Some exercisers believe that genes decide one's physical strength or muscular power regardless of the amount of exercise.

				【答案精解】


				55. People who attach importance to traditional training are not the target customers of Kieser Training.

			

			
				【答案精解】


				


				Section C


				Directions: There are 2 passages in this section. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A), B), C) and D). You should decide on the best choice and mark the corresponding letter on Answer Sheet 2 with a single line through the centre.


				Passage One


				Questions 56 to 60 are based on the following passage.


				The report from the Bureau of Labor Statistics was just as gloomy as anticipated. Unemployment in January jumped to a 16-year high of 7.6 percent, as 598,000 jobs were slashed from U.S. payrolls in the worst single-month decline since December, 1974. With 1.8 million jobs lost in the last three months, there is urgent desire to boost the economy as quickly as possible. But Washington would do well to take a deep breath before reacting to the grim numbers.

				Collectively, we rely on the unemployment figures and other statistics to frame our sense of reality. They are a vital part of an array of data that we use to assess if we're doing well or doing badly, and that in turn shapes government policies and corporate budgets and personal spending decisions. The problem is that the statistics aren't an objective measure of reality; they are simply a best approximation. Directionally, they capture the trends, but the idea that we know precisely how many are unemployed is a myth. That makes finding a solution all the more difficult.

				First, there is the way the data is assembled. The official unemployment rate is the product of a telephone survey of about 60,000 homes. There is another survey, sometimes referred to as the "payroll survey," that assesses 400,000 businesses based on their reported payrolls. Both surveys have problems. The payroll survey can easily double-count someone: if you are one person with two jobs, you show up as two workers. The payroll survey also doesn't capture the number of self-employed, and so says little about how many people are generating an independent income.

				The household survey has a larger problem. When asked straightforwardly, people tend to lie or shade the truth when the subject is sex, money or employment. If you get a call and are asked if you're employed, and you say yes, you're employed. If you say no, however, it may surprise you to learn that you are only unemployed if you've been actively looking for work in the past four weeks; otherwise, you are "marginally attached to the labor force" and not actually unemployed.

				The urge to quantify is embedded in our society. But the idea that statisticians can then capture an objective reality isn't just impossible. It also leads to serious misjudgments. Democrats and Republicans can and will take sides on a number of issues, but a more crucial concern is that both are basing major policy decisions on guesstimates rather than looking at the vast wealth of raw data with a critical eye and an open mind.

				56. What do we learn from the first paragraph?

				A) The U.S. economic situation is going from bad to worse.

				B) Washington is taking drastic measures to provide more jobs.

				C) The U.S. government is slashing more jobs from its payrolls.

				D) The recent economic crisis has taken the U.S. by surprise.

			

			
				【答案精解】


				57. What does the author think of the unemployment figures and other statistics?

				A) They form a solid basis for policy making.

				B) They represent the current situation.

				C) They signal future economic trends.

				D) They do not fully reflect the reality.

				【答案精解】


				58. One problem with the payroll survey is that ______.

				A) it does not include all the businesses

				B) it fails to count in the self-employed

				C) it magnifies the number of the jobless

				D) it does not treat all companies equally

				【答案精解】


				59. The household survey can be faulty in that ______.

				A) people tend to lie when talking on the phone

				B) not everybody is willing or ready to respond

				C) some people won't provide truthful information

				D) the definition of unemployment is too broad

				【答案精解】


				60. At the end of the passage, the author suggests that ______.

				A) statisticians improve their data assembling methods

				B) decision makers view the statistics with a critical eye

				C) politicians listen more before making policy decisions

				D) Democrats and Republicans cooperate on crucial issues

				【答案精解】


				


				Passage Two


				Questions 61 to 65 are based on the following passage.


				At some point in 2008, someone, probably in either Asia or Africa, made the decision to move from the countryside to the city. This nameless person pushed the human race over a historic threshold, for it was in that year that mankind became, for the first time in its history, a predominantly urban species.

				It is a trend that shows no sign of slowing. Demographers  (人口统计学家) reckon that three-quarters of humanity could be city-dwelling by 2050, with most of the increase coming in the fast-growing towns of Asia and Africa. Migrants to cities are attracted by plentiful jobs, access to hospitals and education, and the ability to escape the boredom of a farmer's agricultural life. Those factors are more than enough to make up for the squalor (肮脏), disease and spectacular poverty that those same migrants must often at first endure when they become urban dwellers.

			

			
				It is the city that inspires the latest book from Peter Smith. His main thesis is that the buzz of urban life, and the opportunities it offers for co-operation and collaboration, is what attracts people to the city, which in turn makes cities into the engines of art, commerce, science and progress. This is hardly revolutionary, but it is presented in a charming format. Mr Smith has written a breezy guidebook, with a series of short chapters dedicated to specific aspects of urbanity—parks, say, or the various schemes that have been put forward over the years for building the perfect city. The result is a sort of high-quality, unusually rigorous coffee-table book, designed to be dipped into rather than read from beginning to end.

				In the chapter on skyscrapers, for example, Mr Smith touches on construction methods, the revolutionary invention of the automatic lift, the practicalities of living in the sky and the likelihood that, as cities become more crowded, apartment living will become the norm. But there is also time for brief diversions onto bizarre ground, such as a discussion of the skyscraper index (which holds that a boom in skyscraper construction is a foolproof sign of an imminent recession).

				One obvious criticism is that the price of breadth is depth; many of Mr Smith's essays raise as many questions as they answer. Although that can indeed be frustrating, this is probably the only way to treat so grand a topic. The city is the building block of civilisation and of almost everything people do; a guidebook to the city is really, therefore, a guidebook to how a large and ever-growing chunk of humanity chooses to live. Mr Smith's book serves as an excellent introduction to a vast subject, and will suggest plenty of further lines of inquiry.

				61. In what way is the year 2008 historic?

				A) For the first time in history, urban people outnumbered rural people.

				B) An influential figure decided to move from the countryside to the city.

				C) It is in this year that urbanisation made a start in Asia and Africa.

				D) The population increase in cities reached a new peak in Asia and Africa.

				【答案精解】


				62. What does the author say about urbanisation?

				A) Its impact is not easy to predict.

				B) Its process will not slow down.

				C) It is a milestone in human progress.

				D) It aggravates the squalor of cities.

				【答案精解】


				63. How does the author comment on Peter Smith's new book?

				A) It is but an ordinary coffee-table book.

				B) It is flavoured with humourous stories.

				C) It serves as a guide to arts and commerce.

				D) It is written in a lively and interesting style.

				【答案精解】


				64. What does the author say in the chapter on skyscrapers?

				A) The automatic lift is indispensable in skyscrapers.

			

			
				B) People enjoy living in skyscrapers with a view.

				C) Skyscrapers are a sure sign of a city's prosperity.

				D) Recession closely follows a skyscraper boom.

				【答案精解】


				65. What may be one criticism of Mr Smith's book?

				A) It does not really touch on anything serious.

				B) It is too long for people to read from cover to cover.

				C) It does not deal with any aspect of city life in depth.

				D) It fails to provide sound advice to city dwellers.

				【答案精解】


				


				Part IV  Translation (30 minutes)

				Directions: For this part, you are allowed 30 minutes to translate a passage from Chinese into English. You should write your answer on Answer Sheet 2.


				中国卫生监督部门决定在未来三到五年之内建立一个全国性的网络，用以监测空气污染对人类健康的影响。这一目标于国家卫生和计划生育委员会（National Health and Family Planning Commission）针对空气污染的一份工作文件中披露。根据这份文件，该网络将收集不同地区空气中的PM2.5数据和主要空气污染物浓度变化的数据。这将为分析和评估空气污染对健康的影响提供数据支持。这一文件提到，缺乏长期而系统的监测使国家无法揭示空气污染和人类健康之间的联系。

				【答案精解】
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				Part I  Writing

				Keeping Smiling


				Just as the saying goes, "A smile is the shortest distance between two people." Smile is so effective a weapon that it could bring two distant hearts near; thus we should always bear in mind that wearing a smile and being friendly is the most desirable way to associate with others.

				As a matter of fact, our daily life abounds with examples that testify to the saying. Take the experience of my own as an example. I had an inseparable friend in senior high school, but for some reason, we had a quarrel and never spoke to each other again. Years later when we came across each other at a class reunion, we both showed a knowing smile, as we came to realize we shouldn't dwell on those trivial matters. It was just the smile that bridged the gap between our hearts and made us reconciled again. Over the years, it has dawned on me that were there no smiles, life would be dull and meaningless.

				Therefore, it can be safely concluded that a smile is the most effective way to heal the wound and embrace others. What matters is to open your mind and be generous with your smile.

				正如那句格言所说：“微笑是人与人之间最短的距离。” 微笑是一种非常有效的武器，能使两颗彼此疏远的心靠得更近。因此我们应时刻牢记，面带微笑、与人为善是人际交流中最可取的方式。

				实际上，我们的日常生活里有很多的事例能够印证这句格言。就拿我自己的经历来说吧。我在高中的时候有一个形影不离的朋友，但由于某种原因，我们发生了争吵，之后再也没有说过话。几年后在一次同学聚会上，我们意外碰面，都报以对方会心一笑，因为我们都开始意识到不应该纠缠于那些无关紧要的小事。正是微笑弥合了我们心与心之间的鸿沟，使我们重归于好。这些年来，我渐渐明白——如果没有微笑，生活会索然无味，毫无意义。

				据此我们可以得出可靠的结论，即微笑是抚平创伤、接纳别人的最有效的途径。真正重要的是：敞开你的心扉，不要吝啬你的微笑。

				


				要点用法


				
					
						
								
								bring...near 拉近……的距离

							
								
								for some reason 由于某种原因

							
								
								bridge 把……弥合（或连接）起来

							
						

						
								
								bear in mind 记住

							
								
								come across 偶遇，意外地见到

							
								
								reconciled 重归于好的

							
						

						
								
								wear a smile 面带微笑

							
								
								class reunion 同学聚会

							
								
								dawn on 使开始明白，使渐渐领悟

							
						

						
								
								associate with 与……交往

							
								
								knowing 心照不宣的，会心的

							
								
								embrace 拥抱；接纳

							
						

						
								
								as a matter of fact 实际上

							
								
								come to realize 开始意识到

							
								
								matter 重要，有意义

							
						

						
								
								abound with 充满……，富于……

							
								
								dwell on 纠缠于，沉湎于

							
								
								generous 慷慨的；宽宏大量的

							
						

						
								
								testify to 印证，说明

							
								
								trivial 无关紧要的

							
								
							
						

					
				

				


			

			
				


				句法点评


				1. Smile is so effective a weapon that it could bring two distant hearts near; thus we should always bear in mind that wearing a smile and being friendly is the most desirable way to associate with others.

				本长句包含了状语从句和宾语从句，指出了微笑的作用和价值。

				2. It was just the smile that bridged the gap between our hearts and made us reconciled again.

				用强调句式点出例证的内涵所在。

				3. Over the years, it has dawned on me that were there no smiles, life would be dull and meaningless.

				主语从句+倒装句的连用，进一步深化例证。

				4. Therefore, it can be safely concluded that a smile is the most effective way to heal the wound and embrace others.

				承接上文，用主语从句引出总结段。

				【返回试卷】


				Part II  Listening Comprehension

				Section A

				 1. A) She has completely recovered.

				B) She went into shock after an operation.

				C) She is still in a critical condition.

				D) She is getting much better.

				A) 她已经完全康复了。

				B) 她手术后进入了休克状态。

				C) 她的病情依然很严重。

				D) 她的身体状况好多了。

				


				W: I was shocked to hear of your wife's illness. Is she going to be all right?

				M: At first, the doctors weren't sure, but she's really improved. She'll be home next week.

				Q: What do we learn about the man's wife from the conversation?

				女：听说你妻子生病了，我感到很吃惊。她会很快康复吗？

			

			
				男：刚开始时医生们并不确定，但她确实已经明显好转了，下周就可以回家了。

				问：我们从对话中得知了关于男士妻子的什么信息？

				听前预测：


				1. 四项均以she开头，说明对话与某位女士有关。

				2. 由选项中的recovered、operation、critical condition和getting much better可知，对话双方在谈论某位女士的病情和康复情况。

				结论：对话很可能围绕某位女士的病情和康复情况展开。

				解析：从对话中可知，男士的妻子生病了，女士为此感到很惊讶，并询问男士她的康复情况。男士说她的状况现在已经明显好转了，下周就可以出院回家。由此可知，男士的妻子的身体状况好多了，故选D。

				【返回试卷】


				


				  2. A) Ordering a breakfast. 

				B) Booking a hotel room. 

				C) Buying a train ticket.

				D) Fixing a compartment.

				A) 订一份早餐。

				B) 预订一间旅馆房间。

				C) 购买一张火车票。

				D) 修理一间隔间。

				


				M: Excuse me, can I get a ticket for a sleeping compartment on this train?

				W: Yes. There are four left. The price is 60 pounds per person, including a continental breakfast.

				Q: What is the man doing?

				男：打扰一下，我能买一张这趟火车的卧铺票吗？

				女：可以。还有4张剩余。票价是60英镑，包含一份欧式早餐。

				问：男士正在做什么？

				听前预测：

				四个选项中的句子均是现在进行时态，表明本题考查的是某人正在做什么，听音重点为breakfast、hotel room、train ticket和compartment。

				解析：男士问女士他能否买该列火车的卧铺车票，女士说可以，还有4张余票，并且介绍了票价和火车票附带的服务，即可以享受一份欧式早餐。可见女士是售票员，男士正在购买火车票，答案选C。sleeping compartment意为“卧铺车厢”，continental breakfast意为“欧式早餐”。

				【返回试卷】


				


				  3. A) Most borrowers never returned the books to her.

			

			
				B) The man is the only one who brought her book back.

				C) She never expected anyone to return the books to her.

				D) Most of the books she lent out came back without jackets.

				A) 大部分借书的人从不把书还给她。

				B) 男士是唯一一个把书还给她的人。

				C) 她从不指望任何人把书还给她。

				D) 她借出去的书大部分在被归还时都少了护封。

				


				M: Janet, here's the book I borrowed from you, but I'm so sorry that I can't find its jacket.

				W: It doesn't matter. Anyway, you are one of the few people who actually return books to me.

				Q: What does the woman imply?

				男：珍妮特，这是我向借你的书，但是很抱歉，我找不到它的护封了。

				女：没关系。不管怎样，你是真正把书还给我的少数人之一。

				问：女士暗示了什么？

				听前预测：


				1. 三项中出现了books，一项中出现了book，说明对话与书有关。

				2. 两项中出现了与借东西有关的词汇（borrowers和lent out），说明对话中很可能提到了借某物。

				3. 四项中均出现了与归还有关的词汇（returned、brought back、return和came back），说明对话中还提到了归还某物。

				结论：对话应该与借书、还书有关。

				解析：男士来还向女士借的书，但对女士道歉说书的护封被他弄丢了。女士表示不介意，并说男士是少数还能把她的书归还给她的人之一，可见女士的言外之意是大部分向她借书的人都没有把书归还给她，故选A。jacket此处意为“（书的）护封”。

				【返回试卷】


				


				  4. A) She left her work early to get some bargains last Saturday.

				B) She attended the supermarket's grand opening ceremony.

				C) She drove a full hour before finding a parking space.

				D) She failed to get into the supermarket last Saturday.

				A) 上周六她为了购买一些廉价商品而提前下班。

				B) 她参加了那家超市的盛大开业典礼。

				C) 她开了整整一个小时的车才找到一个停车位。

				D) 上周六她没能进入那家超市。

				


				M: Lisa, have you been to the new supermarket yet?

			

			
				W: Yes, and no. I went there last Saturday for their grand opening sale, but I drove around the parking lot for nearly an hour, looking for a space before I finally gave up and came home.

				Q: What does the woman mean?

				男：莉萨，你去过新开的超市了吗？

				女：我既去过，也没去过。上周六因为超市有开业大促销，所以我去了那里，但是为了寻找一个停车位，我在停车场里绕了近一个小时，最终我放弃了，然后回家了。

				问：女士是什么意思？

				听前预测：


				1. 四项均以she开头，说明本题提问与某位女士有关的内容。

				2. 四项中的句子均为过去时态，并且两项提到了last Saturday，说明对话谈论的是过去发生的事情，且事情发生在上周六。

				3. 两项提到了supermarket，一项提到了bargains，说明对话很可能与去超市或购买廉价商品有关。

				结论：对话谈论的内容应该与女士上周六去超市购买廉价商品有关。

				解析：男士问女士有没有去那家新开的超市，女士回答说，上周六超市正在举行开业大促销，所以她开车去了那里，但她在停车场里开车绕了近一个小时，也没能找到一个停车位，最终没有进入超市，直接回家了，故答案选D。opening sale意为“开业促销”，parking lot意为“停车场”。

				【返回试卷】


				


				  5. A) He is bothered by the pain in his neck.

				B) He cannot do his report without a computer.

				C) He cannot afford to have a coffee break.

				D) He feels sorry to have missed the report.

				A) 他被颈部疼痛的问题所困扰。

				B) 没有电脑的话，他无法做报告。

				C) 他无法享受一杯咖啡的休息时间。

				D) 他为错过报告而感到遗憾。

				


				W: You've been sitting at the computer for hours. Let's take a coffee break, shall we?

				M: I wish I could. You know, I'm up to my neck in work. I've got to finish this report. I don't want to miss the deadline.

				Q: What does the man mean?

				女：你已经在电脑前坐了好几个小时了。让我们喝杯咖啡，休息一下吧，怎么样？

				男：我希望我能休息一下。你知道，我正为工作忙得不可开交。我必须完成这份报告。我不想错过提交报告的最后期限。

				问：男士是什么意思？

			

			
				听前预测：


				1. 四项均以he开头，说明此题提问与某位男士有关的内容。

				2. 两项提到了report，说明对话很可能与某份报告有关。

				结论：对话很可能与男士的一份报告有关。

				解析：女士看男士已经在电脑前工作好几个小时了，于是建议一起喝杯咖啡，休息一下。男士则回答说他必须赶在截止日期前完成一份报告，由此可知，他现在没有时间来喝杯咖啡休息一下，故选C。afford在此意为“有时间”。

				【返回试卷】


				


				  6. A) Only top art students can show their works in the gallery.

				B) The gallery space is big enough for the man's paintings.

				C) The woman would like to help with the exhibition layout.

				D) The man is uncertain how his art works will be received.

				A) 只有顶尖的美术学生才能在这间画廊里展览他们的作品。

				B) 对于男士的画作来说，这间画廊的空间足够大。

				C) 女士愿意协助设计展览的布局。

				D) 男士不确定他的美术作品将反响如何。

				


				M: What do you think of this gallery space? They offer to let me exhibit some of my paintings here.

				W: Are you kidding? Any art student I know would die to have an exhibition here.

				Q: What can we infer from the conversation?

				男：这间画廊的空间你觉得怎么样？他们提供这个场地来让我展览我的一些画作。

				女：你是在和我开玩笑吗？我认识的每一名学习美术的学生都渴望在这里举办展览。

				问：从对话中，我们能推断出什么？

				听前预测：


				1. 两项含有the man，说明对话谈论的内容可能与男士有关。

				2. 由选项中的gallery、paintings、exhibition和art works可知，对话很可能谈论的是画廊的美术作品展览。

				结论：对话很可能围绕男士的美术作品和画廊展览展开。

				解析：男士询问女士对一间画廊的意见，并说他将有机会在这间画廊展览他的一些画作。女士对此感到很激动和吃惊，并说她认识的每一名学习美术的学生都渴望在此举办展览。would die to...是比较口语化的说法，意为“为……可以去死”，表示“十分渴望……”。如果说获得这个展览机会是每名美术学生所梦寐以求的，即可推断出只有那些最优秀的学生才能获此殊荣，故选A。

				【返回试卷】


				


			

			
				  7. A) The woman needs a temporary replacement for her assistant.

				B) The man works in the same department as the woman does.

				C) The woman will have to stay in hospital for a few days.

				D) The man is capable of dealing with difficult people.

				A) 女士需要有人临时代班，当她的助理。

				B) 男士与女士在同一个部门工作。

				C) 女士必须住院几天。

				D) 男士有能力应对难缠的人。

				


				W: Gary, my assistant is in hospital now. Is there anyone in your department who could give a hand for a few days?

				M: I think so. I'll ask around and get back to you.

				Q: What do we learn from the conversation?

				女：加里，我的助理现在正在住院。你的部门有没有人可以来帮我几天忙？

				男：我想有的。我会到各处问一问，然后给你答复。

				问：从对话中，我们得知什么？

				听前预测：


				1. 两项以the man开头，两项以the woman开头，问题既可能涉及男士，也可能涉及女士。

				2. 由选项中的assistant、works in the same department和dealing with可知，对话可能涉及工作、部门等信息。

				结论：对话可能围绕与男士或女士的工作有关的话题展开。

				解析：女士的助理住院了，因此询问男士他的部门有没有能暂时担当她助理的工作人员，由此可知男士与女士不在一个部门工作，女士想让男士帮她寻找一个临时代班的助理，故选A。

				【返回试卷】


				


				  8. A) It was better than the previous one.

				B) It distorted the mayor's speech.

				C) It exaggerated the city's economic problems.

				D) It reflected the opinions of most economists.

				A) 它比之前的好。

				B) 它曲解了市长演讲的意思。

				C) 它夸大了该城市的经济问题。

				D) 它反映了大部分经济学家的观点。

				


				W: Did you read the article in the paper about the mayor's speech at the economic forum?

				M: Sure I did, but I think they twisted the meaning of what he said. And it's not the first time for them to do so.

			

			
				Q: What does the man say about the paper?

				女：你读了报纸上那篇关于市长在经济论坛上的演讲的文章了吗？

				男：我当然读过了，但是我认为他们曲解了市长所说的意思。而且这已经不是他们第一次这么做了。

				问：关于这家报纸男士说了什么？

				听前预测：


				1. 四项均以it开头，可知此题提问的内容与对话中提到的某种事物有关。

				2. 四项句子的时态均为过去时，可知对话谈论的是过去发生的事情。

				3. 一项提到了mayor，一项提到了city，说明对话中可能提到了市长或城市。

				结论：对话可能涉及市长过去所做的某件事情。

				解析：女士问男士有没有读报纸上那篇关于市长在经济论坛上的演讲的文章，男士给予了肯定回答，并对这篇文章进行了评价——文章曲解了市长演讲的意思，选项B与此相吻合，故为正确答案。该项中的distorted意为“曲解”，与对话中的twisted为同义转述。economic forum意为“经济论坛”。

				【返回试卷】


				


				Conversation One


				听力原文&译文


				W: Oh, hello, John. Are you using your dictating machine this morning? I've got a long report. I must dictate. Can I borrow your machine?

				M: Of course. But can you spare me a second? ［9］ It's the message you sent me about the delivery delay on the control desks. What's gone wrong?

				W: Everything, John. ［10］ We have to get the steel sheets we need for these desks from new suppliers. Well, the suppliers have got some trouble or other. They say they'll be a bit late with delivery.

				M: But they can't be. Those control desks are a special order. They are wanted for one of the big computer companies. It's a very important contract.

				W: When did we promise delivery?

				M: On Thursday next week. And there's a penalty clause. We stand to lose 10 percent of our price for each week of overdue delivery.

				W: Oh, these penalty clauses!Why do you sales people accept them?

				M: ［11］ We have to accept them, otherwise we don't get the contracts.

				W: Well, let's get on to the Buying Department. I only heard about the delay yesterday because we kept the production line clear to handle these special sheets. It's a dreadful nuisance.

				M: It will be more than a nuisance. If we don't meet on delivery date, it will cost us a lot of money.

				W: Keep clam, John. ［12］ We can perhaps claim compensation from the steel suppliers for failure to deliver on time. That'll offset the penalty clause.

			

			
				M: Well, if you can.

				女：哦，你好，约翰。你今天上午用你的录音机吗？我要去听一个长报告，必须录音。能借用一下你的录音机吗？

				男：当然可以。不过我能先占用你几分钟时间吗？［9］是关于你发给我的有关控制台交货日期延迟的信息。哪里出问题了？

				女：全都出问题了，约翰。［10］我们必须从新的供应商那里购买生产这些控制台所需的钢板。 唉，这些供应商遇到了一点麻烦。他们说交货的时间可能会迟一点。

				男：可他们不能这样啊。那些控制台是特殊订单，是为一家大型计算机公司生产的。这份订单合同非常重要。

				女：我们在合同中承诺的是哪天交货？

				男：下周四。合同中含有违约处罚条款，每延期交货一周，我们就必须将价格降低百分之十。

				女：天呐，这些处罚条款！你们销售人员为什么要接受这样的条款？

				男：［11］我们必须接受，否则我们就拿不到合同。

				女：好吧，我们跟采购部联系一下吧。我昨天才听说要延期，因为我们把生产线腾出来，以处理特殊订单。真是件令人不快的麻烦事。

				男：不仅仅是麻烦事。如果我们不能按期交货，就会给公司造成很大的经济损失。

				女：冷静点，约翰。［12］或许我们能够向钢板供应商要求赔偿，因为是他们未能按期交货。那样的话，我们就可以抵销处罚条款（引起的损失）了。

				男：好吧，如果可以的话。

				


				  9. A) To inform him of a problem they face.

				B) To request him to purchase control desks.

				C) To discuss the content of a project report.

				D) To ask him to fix the dictating machine.

				Q: Why did the woman send the message to the man?

				A) 通知他他们面临的一个问题。

				B) 要求他购买控制台。

				C) 讨论一份项目报告的内容。

				D) 请求他修理录音机。

				Q：女士为什么给男士发送信息？

				听前预测：


				1. 四项均以to开头，推测该题是对目的进行提问。

				2. 三项提到了him，推测动作的接受者是男士。

				结论：该题考查的内容可能是女士要求男士做某事或者告知男士某事，听音时应关注女士的话，并将听音重点放在四个选项的关键信息inform...of a problem、request...to purchase、discuss...project report以及ask...to fix上。

				解析：在对话的开头部分，男士说想占用女士几分钟时间，来谈谈女士之前发给他的有关控制台交货日期推迟的信息。可见，女士给男士发信息是想告诉男士控制台的交货日期将会延迟，也就是他们所面临的一个问题。四个选项中只有A项与此意思符合，故为答案。其他三项中的control desks、report和dictating machine在对话的开头部分都有出现，具有一定的干扰性，考生在听音时除了抓住关键名词之外，也要关注与其搭配的动词，以便精准定位答案。

			

			
				【返回试卷】


				


				10. A) They quote the best price in the market.

				B) They manufacture and sell office furniture.

				C) They cannot deliver the steel sheets on time.

				D) They cannot produce the steel sheets needed.

				Q: What does the woman say about the new suppliers?

				A) 他们的报价是市场上最佳的。

				B) 他们制造和销售办公室设备。

				C) 他们无法按时将钢板交货。

				D) 他们生产不出所需的钢板。

				Q：关于新的供应商，女士说了什么？

				听前预测：


				1. 四项均以they开头。

				2. 四项均含有商务方面的词语（quote the best price, manufacture and sell, deliver, produce）。

				3. 两项中提到了钢板（steel sheets），两项中含有表示无法做某事的词语（cannot）。

				结论：该对话发生在商务场合，they可能指的是钢板的生产商或供应商，该题可能是对they在钢板的报价、生产、销售或交货等方面的问题进行讨论，具体信息需要仔细听音后进行辨别。

				解析：对话中，当男士问女士出了什么问题时，女士说：“我们必须从新的供应商那里购买生产这些控制台所需的钢板。唉，这些供应商遇到了一点麻烦。他们说交货的时间可能会迟一点。” 故可知正确答案为C项。其他三项文中均未提及，故可排除。

				【返回试卷】


				


				11. A) By marking down the unit price.

				B) By accepting the penalty clauses.

				C) By allowing more time for delivery.

				D) By promising better after-sales service.

				Q: How did the man get the contracts?

				A) 通过降低单价。

				B) 通过接受处罚条款。

				C) 通过延长对方的交货时间。

				D) 通过承诺给予更好的售后服务。

				Q：男士是怎样拿到合同的？

			

			
				听前预测：


				1. 四项均为by引导的介词短语，推测该题针对方式进行提问。

				2. 四项均含有表示优惠条件的内容（marking down the unit price, accepting the penalty clauses, allowing more time for delivery, promising better after-sales service）。

				结论：该题考查的内容可能是一方通过给予怎样的条件来达到某一目的。具体是降低单价、接受处罚条款、延长对方的交货时间还是给予更好的售后服务，需要考生通过所听到的内容进行仔细辨别。

				解析：对话中，男士提到，他们与计算机公司签订的合同中含有违约处罚条款，他们的交货时间每延期一周，就必须将价格降低百分之十。女士接着问男士为什么要签订这样的处罚条款，男士说如果不签的话就拿不到合同，故可知正确答案为B项。其他三项文中均未提及，故可排除。

				【返回试卷】


				


				12. A) Give the customer a ten percent discount.

				B) Claim compensation from the steel suppliers.

				C) Ask the Buying Department to change suppliers.

				D) Cancel the contract with the customer.

				Q: What does the woman suggest they do?

				A) 给予客户百分之十的折扣。

				B) 向钢板供应商要求赔偿。

				C) 要求采购部更换供应商。

				D) 取消与客户签订的合同。

				Q：女士建议他们做什么？

				听前预测：


				1. 四项均以动词原形开头，推测该题是对动作进行提问。

				2. 两项含有表示“客户”的词语（customer），两项含有表示“供应商”的词语（suppliers）。

				结论：结合第10题可以推测，该题可能是对10题所出现问题的解决方法进行考查。考生听音时应将重点放在give...discount、claim compensation、change suppliers以及cancel the contract等关键词上，从而进一步判断出是哪一种解决方法。

				解析：在对话的结尾部分，女士说或许他们能够向钢板供应商要求赔偿，因为这个问题是由于供应商未能按期交货造成的。由此可知，正确答案为B项。A项中的ten percent在对话中有所提及，但说的是如果男士的公司延期交货，那么每延期一周就须将价格降低百分之十，而非主动给客户打折；对话中确实提到了Buying Department，但并没有提到要让他们更换供应商；D项文中未提及，故A、C、D三项均可排除。

				【返回试卷】


				


				Conversation Two


				听力原文&译文


			

			
				M: Cathy, ［15］ Chaos theory seems to be a branch of physics or mathematics. ［13］ You are an economist. So how does it influence your work?

				W:  Well, in several ways. I'm responsible for financial development programs in many parts of the world. So forecasting long range trends and making predictions on the basis of present evidence is what I do. ［14］ ［15］ Chaos theory was developed by scientists trying to explain the movement of the planet and changes in environmental conditions. Both of these things are also about making long-term predictions on the basis of present evidence.

				M: Are many economists involved in this field?

				W: An increasing number. In the 1990s, many economists began to look at Chaos theory as a way of providing models for forecasting.

				M: What kind of models are we talking about here?

				W: Well, that's a good question. ［15］ Because a basic idea of Chaos theory is that there aren't any models as such. There aren't guaranteed forms, but rather patterns of change in development.

				M: Doesn't that mean that forecasting is impossible?

				W: No, but it certainly makes it more of a challenge. Mandell Braud, who did the experiment with stock exchange prices, for example, noted that although the outcomes were variable, there were in fact certain constants. What we have to do is make sure we know what these are and take into account all the possible variables.

				M: But do economics and finance work in the same way as weather conditions or the movement of planets?

				W: Well, no, of course not. There are certain underlying similarities. But we have to leave them for another time.

				男：凯茜，［15］混沌理论好像是物理学或者数学的一个分支。［13］你是经济学家，那么，它是如何影响你的工作的呢？

				女：嗯，有以下几个方面。我在世界许多地方负责金融发展项目，所以预测长期的发展趋势和基于现有证据进行推测就是我的工作。［14］ ［15］混沌理论是由科学家们提出的，他们想要解释行星的运动和环境条件的改变。这二者也都与基于现有证据进行长期预测有关。

				男：有许多经济学家涉及这一领域吗？

				女：涉及的人数在不断上升。在20世纪90年代，许多经济学家开始将混沌理论看做一种提供预测模型的方式。

				男：我们现在讨论的是哪些模型？

				女：嗯，这个问题问得好。［15］因为混沌理论的基本理念就是没有模型之类的东西，没有确定的形式，只有发展中的变化模式。

				男：那是不是意味着进行预测是不可能的？

				女：不，但它确实使得预测变得更加具有挑战性。比如说，曼德尔·布劳德用股票交易价格做了实验，他发现，虽然结果是变量，但实际上还是存在着某些常量。我们必须要做的就是弄清楚这些常量是什么，并考虑到所有可能的变量。

				男：但是经济学和金融学与天气情况或者行星的运动是同样的原理吗？

				女：哦，不，当然不一样。它们也有某些潜在的相似性，但是我们得留到下次再讨论。

				


				13. A) Stockbroker.

			

			
				B) Physicist.

				C) Mathematician.

				D) Economist.

				Q: What is the woman's profession?

				A) 股票经纪人。

				B) 物理学家。

				C) 数学家。

				D) 经济学家。

				问：女士的职业是什么？

				听前预测：

				四项均为表示职业的名词，分别是股票经纪人、物理学家、数学家和经济学家，可见该题是对某人的职业进行考查。听音时要重点关注与选项中的职业相关的内容，并弄清楚每个职业对应的对象，避免被干扰项所误导。

				解析：在对话的开头，男士说：“混沌理论好像是物理学或者数学的一个分支。你是经济学家，那么，它是如何影响你的工作的呢？” 可知女士的职业是经济学家。故D项正确。

				【返回试卷】


				


				14. A) Improve computer programming.

				B) Explain certain natural phenomena.

				C) Predict global population growth.

				D) Promote national financial health.

				Q: What was Chaos theory supposed to do when it was first formulated?

				A) 改进计算机编程水平。

				B) 解释某些自然现象。

				C) 预测全球人口增长。

				D) 促进国家金融的健康发展。

				问：科学家最初阐述混沌理论时是想用它做什么？

				听前预测：


				1. 四项均以动词原形开头。

				2. 三项含有表示“朝好的方向发展”的词（improve, growth, promote）。

				3. 三项都谈到了自然现象、全球人口增长、国家金融健康等比较宏大的议题。

				结论：该题对动作进行考查，可能与某项政策或某一理论的作用或意义有关。

				解析：女士第一次说话时提到，混沌理论是由科学家们提出的，他们想要解释行星的运动和环境条件的改变。行星的运动和环境条件的改变都属于自然现象的范畴，故B项正确。A、D两项是根据对话中出现的programs和financial设置的干扰项，C项文中未提及，均可排除。

				


			

			
				【返回试卷】


				15. A) Their different educational backgrounds.

				B) Changing attitudes toward nature.

				C) Chaos theory and its applications.

				D) The current global economic crisis.

				Q: What are the speakers mainly talking about?

				A) 他们不同的教育背景。

				B) 对自然的不断改变的态度。

				C) 混沌理论及其应用。

				D) 当下的全球经济危机。

				问：两位说话者主要在谈论什么？

				听前预测：

				四项均为名词短语，信息点比较分散，再考虑到该题为该对话的最后一题，推测可能考查该对话的主题。

				解析：该题需要考生在理解整个对话内容的基础上作出归纳。对话一开始，男士问女士混沌理论与她的工作的关系，接着女士讲了混沌理论的形成、基本理念以及在预测方面的用途。很明显，C项是两人讨论的主要话题。故选C。

				【返回试卷】


				


				Section B

				Passage One


				听力原文&译文


				People write to ask me if there's correlation between academic intelligence and emotional intelligence. My answer is no. You can have a high IQ and a high EQ, which, of course is a winning combination, or be high in one and low in the other. ［16］ The best study was done at Bell Labs in New Jersey—a very high IQ place. They do research and development for the communications industry. In a division of electronics engineers, who are designing equipment so advanced that they work in teams of up to 150. Co-workers and managers were asked to nominate the standouts—the stars in productivity and effectiveness. They came up with 10 or 15 names, and that group of stars was compared with everyone else. It turned out there was no difference in IQ, no difference in academic qualifications, no difference in years on the job. ［17］ The only difference was emotional intelligence. The stars were people who knew how to get along, who knew how to motivate themselves, usually the kind of people you like to hang out with. When these people ran up against a technical problem, to which they'd have to turn to someone else for an answer, they'd e-mail and get an answer right away, because they built up networks of people before they needed them. The other people would e-mail and wait up to 2 weeks for an answer. ［18］ So you can see how being good in the inter-personal realm actually was a direct benefit, even for effectively pursuing a technical task.

				人们写信问我学术智商和情商之间是否有关系。我的回答是“没有关系”。你可能同时拥有很高的智商和情商，这当然是一个很成功的组合，或者你可能只拥有很高的情商或智商。［16］位于新泽西州的贝尔实验室做了关于这个问题的最佳研究，这是一个高智商人士的聚集地。他们为通信行业做研发。实验在电子工程师部门中进行，他们在做的工作就是设计十分先进的设备，这一团队有多达150人。实验要求该部门的同事和管理者们共同提名一批杰出人士——即在生产力和效率方面的“明星”。他们最终提名了10个或是15个人，然后将这组“明星”与部门中的其他每个人都进行了比较。结果证明他们在智商、学术资历和工作年限方面都没有什么差别，［17］唯一的差别就在于情商。这些“明星”知道如何与人相处，知道如何进行自我激励，他们通常是人们愿意与之打交道的那一类人。当遇到技术难题而不得不向其他人寻求答案时，他们会写邮件求助，然后很快就会得到答案，因为他们在需要他人帮忙之前就已经建立好了人脉关系网。而另外一些人则可能在写完邮件后等待长达两周的时间才能得到回复。［18］因此，你会了解到，即便是对于高效地完成一项技术任务来说，拥有好的人际关系网也确实会有直接的益处。

			

			
				


				整体预测


				快速浏览本部分所有选项，由其中的关键词IQ、emotional intelligence和interpersonal relationships可大致推断，该文章很可能讲的是与智商、情商及人际关系有关的内容，因此在听音时需要重点关注与之相关的信息。

				


				16. A) They lay great emphasis on hard work.

				B) They name 150 star engineers each year.

				C) They require high academic degrees.

				D) They have people with a very high IQ.

				Q: What does the speaker say about Bell Labs?

				A) 他们很注重努力工作。

				B) 他们每年评出150位明星工程师。

				C) 他们要求拥有高学历。

				D) 他们拥有智商非常高的人士。

				问：关于贝尔实验室，讲话者说了什么？

				解题思路：


				1. 四项均以they开头。

				2. 两项含有与工作有关的词汇（hard work, star engineers）。

				3. 两项可能与学习能力有关（academic degrees, high IQ）。

				结论：根据四项的共同主语they可以判断，本题考查与they有关的情况，因此需根据关键词听出they的指代对象，然后再有针对性地作答。听音重点为hard work、star engineers、academic degrees、high IQ。

				解析：短文开头部分就提到贝尔实验室是一个高智商人士的聚集地，因此可得知该实验室拥有高智商的人，故D项正确。其他几项文中均未提及，故排除。

				【返回试卷】


				


			

			
				17. A) Long years of job training.

				B) High emotional intelligence.

				C) Distinctive academic qualifications.

				D) Devotion to the advance of science.

				Q: What characterizes the stars nominated at Bell Labs?

				A) 获得了多年的职业培训。

				B) 拥有高情商。

				C) 拥有杰出的学术资历。

				D) 拥有对科学进步的热忱。

				问：贝尔实验室提名的这些“明星”具有何种特征？

				解题思路：


				1. 四项均为名词短语。

				2. 四项均含有表示积极、正面信息的形容词或名词（long, high, distinctive, devotion, advance）。

				3. 三项都可能与工作有关（job training, qualifications, advance of science）。

				结论：本题很可能考查和工作相关的积极因素。听音重点为job training、high emotional intelligence、academic qualifications和devotion to the advance of science。

				解析：问题中的characterizes和nominated说明本题有一些难度。短文指出，那些在工作中表现杰出的“明星”与其他人在智商、学术资历和工作年限方面都没有什么差别，唯一的差别就在于他们拥有很高的情商。因此B项为正确选择。A项在文中未被提及，C项和D项很明显都不是这些“明星”与其他人的区别，故排除。

				【返回试卷】


				


				18. A) Good interpersonal relationships.

				B) Rich working experience.

				C) Sophisticated equipment.

				D) High motivation.

				Q：What does the speaker say contributes to effectively pursuing a technical task?

				A) 良好的人际关系。

				B) 丰富的工作经验。

				C) 精良的工作设备。

				D) 高度的工作积极性。

				问：讲话者说对于有效地完成一项技术任务，什么是有帮助的？

				解题思路：


				1. 四项均为名词短语。

				2. 四项表述都是在工作方面有积极意义的内容。

			

			
				结论：本题很可能考查有利于做好工作的因素。听音重点为interpersonal relationships、working experience、equipment和motivation。

				解析：effectively pursuing a technical task为文章末尾的原句重现。讲话者提到，即便是对于高效地完成一项技术任务来说，拥有好的人际关系网也确实会有直接的益处。四项中只有A项符合文意，故选A。其余三项虽然也都对工作业绩有利，但与文章所强调的“情商”无关，皆可排除。

				【返回试卷】


				


				Passage Two


				听力原文&译文


				［19］J's Biography of John Muir—John Muir's own writings to bring readers a life story of this remarkable man who did so much to raise America's awareness of environmental issues. As America's first environmentalist, John Muir lived his life for ever daring to undertake new adventures. He spent most of his days outdoors and had a deep love for the wild lands. In the book, we meet John Muir as a youth fearlessly climbing the roof of his house. He captures birds only to let them go when he realizes the cruelty involved. He becomes an inventor and sells his inventions in order to attend the university. ［20］ As a young man, he began walking over tens of thousands of miles during his lifetime: through the south to Florida, the west to California and north to Alaska, where readers are taken a long and particularly hair-raising adventure on a large mass of floating ice. Muir's learning in observation throughout his life led him to devote his last years to preserving the natural environment. ［21］ His writing and speaking raised the awareness of the importance of conservation and helped bring about our national park system. Readers will feel they know John Muir after reading his story and may catch his passion for preserving the riches of our land. The others' portrayal of Muir's life is a testimony to what it means to be lifelong learners and to use that learning to inform and bring about change.

				［19］《约翰·缪尔传》——约翰·缪尔在这部自传中，将自己杰出的一生展现在读者面前，他做了大量的工作以唤起美国人对环境问题的关注。作为美国的第一位环保人士，约翰·缪尔一生勇于冒险。他把大部分时间都花在户外，对于野外有着深深的热爱。在这本书里，我们看到年少的约翰·缪尔毫无畏惧地攀爬自家的屋顶。当他意识到捕捉鸟是件残忍的事时，他抓住鸟儿后就只会把它们放生。他成了一位发明家，为了上大学他卖掉了自己的发明。［20］青年时期，他开始徒步远行，用一生跋涉数万英里：一路向南到达佛罗里达州，向西直抵加利福尼亚州，向北至阿拉斯加州。读者们跟着他在大块的浮冰上经历漫长且尤为惊心动魄的冒险。缪尔花费毕生精力通过观察得来的学识令他在晚年投身于自然环境的保护工作。［21］他的文章和演讲唤起了公众对环保重要性的认识，并对我国国家公园体系的建立起到了推动作用。读过他的故事之后，读者会感觉到他们了解约翰·缪尔，并可能被他保护我们富饶土地的热情所感染。其他人记述的缪尔的生平也验证了何为终身学习者，何为将毕生所学用于传递信息并引发变革的人。

				


				整体预测


				快速浏览各题选项，根据第19题列举的各类图书、第20题对he的描述以及第21题列举的各种行为推测，本文很可能与某本书记载的某人的事迹有关，听音时应重点关注与之相关的内容。

				


				19. A) A diary.

			

			
				B) A fairy tale.

				C) A history textbook.

				D) A biography.

				Q: What kind of book is the speaker introducing?

				A) 一本日记。

				B) 一本童话故事书。

				C) 一本历史课本。

				D) 一本传记。

				问：说话者介绍的是一本什么样的书？

				解题思路：

				四个选项分别列举了不同的图书种类：日记、童话故事书、课本和传记。

				结论：本题很可能询问某本书的类型。

				解析：短文一开始就指出了接下来要介绍的这本书的书名——J's Biography of John Muir，biography是“传记”的意思，故本题选D。其他三项短文并未提及。

				【返回试卷】


				


				20. A) He was a sports fan.

				B) He loved adventures.

				C) He disliked school.

				D) He liked hair-raising stories.

				Q: What do we learn about John Muir when he was young?

				A) 他是名体育爱好者。

				B) 他喜欢冒险。

				C) 他不喜欢上学。

				D) 他喜欢惊悚小说。

				问：对于年青的约翰·缪尔，我们知道了什么？

				解题思路：


				1. 四项均以he开头。

				2. 三项含有与“喜好”有关的词汇（loved, disliked, liked）。

				结论：本题很可能考查he的兴趣爱好。

				解析：短文中间部分提到，约翰·缪尔年轻时徒步周游美国，这本传记中记述了他在大块浮冰上的冒险经历，由此可以看出，约翰·缪尔年轻时喜欢冒险。注意短文前面提到了他在少年（youth）时的经历，而本题问的是他年轻（young）时是个什么样的人，听音时不要将youth和young混淆。

				【返回试卷】


				


			

			
				21. A) Encourage people to undertake adventures.

				B) Publicize his colorful and unique life stories.

				C) Raise people's environmental awareness.

				D) Attract people to America's national parks.

				Q: What did John Muir intend to do through writing and speaking?

				A) 鼓励人们去冒险。

				B) 公开展现他多彩而独特的人生经历。

				C) 唤起人们的环境意识。

				D) 吸引人们游览美国的国家公园。

				问：约翰·缪尔写文章和做演讲的目的是什么？

				解题思路：


				1. 四项均以动词原形开头，证明本题考查某人做某事。

				2. 三项含有people。

				结论：本题很可能考查某人让人们做什么事情。

				解析：短文末尾部分提到，约翰·缪尔通过写文章和做演讲，让人们认识到了环保的重要性，还推动了美国国家公园体系的建立，故本题选C。问题中的writing and speaking是原文再现，听到这个词组后回想原文中它后面的内容，则不难选出答案。

				【返回试卷】


				


				Passage Three


				听力原文&译文


				Disaster movies often portray catastrophes that destroy, or at least threaten to destroy earth's entire population. In fact, a virus emerged in the 1970s; that could've been just that fatal. ［22］ Named after a river that passes through the Congo, the Ebola virus originally manifested itself in the interior of Africa in 1976. ［23］ Two strains of the disease, with almost identical symptoms, affected humans: Ebola Zaire and Ebola Sudan. The Sudan version was deadly enough, killing 50 percent of those it infected. However, Zaire, with its 90 percent mortality rate was even worse. The origins, though not the cause of Ebola Sudan, can be traced back to a single individual in a Sudanese town. Ebola Zaire seemed to erupt in over 50 villages simultaneously. ［24］ Both strains quickly invaded local hospitals where needle sharing and other unhealthy practices ensured the rapid spreading of the infection by bringing people into contact with contaminated body fluids. If the virus had been capable of spreading through the air, or if one infected person had unknowingly entered a large population center, Ebola might have become a worldwide epidemic. However, soon after these fierce outbreaks, the virus died out, at least temporarily. Ebola was so deadly and killed so quickly that within a short period of time there was no one around to infect. Hospital workers in at least one case deserted their workplace in panic, thus halting the administering of potentially unclean disease spreading injections, but Ebola has not disappeared. ［25］ With no known vaccination or cure available, it seems only a matter of time until another epidemic erupts.

				灾难电影经常描绘摧毁——或者至少威胁要摧毁——地球上所有人类的大灾难。事实上，在20世纪70年代出现的一种病毒可能就存在那样的致命性。［22］ 以流经刚果境内的埃博拉河命名的这种病毒——埃博拉病毒，最初于1976年出现在非洲内陆地区。［23］ 这种病毒的两种类型——埃博拉病毒扎伊尔型和埃博拉病毒苏丹型——具有几乎完全一致的症状，它们感染了人类。苏丹型的致死率已经相当高了，感染的患者中有50%丧生。然而，扎伊尔型却更具致命性，其致死率达到了90%。原始病毒尽管不是埃博拉病毒苏丹型的成因，却可以追溯到苏丹的一个小镇上的一个人。埃博拉病毒扎伊尔型似乎是在50多个村庄同时爆发的。［24］ 这两种类型的病毒在短时间内就侵入了当地医院，共用针头和其他不卫生的做法让人们接触到受感染者的体液，又使得传染迅速蔓延。如果当时病毒能够通过空气传播，或者某位病毒感染者在无意间进入了一个大型人口聚集中心，埃博拉病毒就有可能引发全球性流行疾病。然而，就在这一系列迅猛的爆发之后，病毒很快就消失了，至少暂时不存在了。埃博拉病毒的致死率如此之高，让受感染者丧命如此之快，致使受感染区域的附近一带在较短的一段时期之内竟无人再受感染。这样的案例出现过不止一次：医务人员在恐慌之余离弃了他们的工作场所，这终止了可能导致疾病传染的不卫生的注射行为，但埃博拉病毒并没有消失。［25］ 在没有可用的已知疫苗或治疗方法的情况之下，下一次传染病毒的爆发似乎只是一个时间的问题。

			

			
				


				整体预测


				快速浏览各题所有选项，由其中的关键词infected、victim、Africa、doctor、Congo、symptoms、drug、mortality rate、virus、contaminated、Sudan and Zaire、Ebola virus、cures、immune等可大致推断，本文很可能与非洲地区的某种病毒有关，有可能就是Ebola virus（埃博拉病毒），听音时需特别注意与非洲地区、疾病和病毒相关的内容。

				


				22. A) The first infected victim.

				B) A coastal village in Africa.

				C) The doctor who first identified it.

				D) A river running through the Congo.

				Q: What is Ebola virus named after?

				A) 第一位被感染的受害者。

				B) 非洲的一个海滨村庄。

				C) 首位确认该病毒的医生。

				D) 流经刚果的一条河流。

				问：埃博拉病毒以什么命名？

				解题思路：


				1. 四项均为名词短语，分别表示四种不同的人或物。

				2. 四项基本都与疾病或非洲地域特征有关。

				结论：本题考查的应该是某个细节，听音时需注意与选项相关的内容。

				解析：本题问的是埃博拉病毒的名字的由来，使用了be named after的表达方式，文章前面部分出现了Named after，且该处的论述对象就是埃博拉病毒，故应为答案所在之处，该句提到埃博拉病毒是以流经刚果境内的埃博拉河命名的，故D项为答案。

				【返回试卷】


				


			

			
				23. A) They exhibit similar symptoms.

				B) They can be treated with the same drug.

				C) They have almost the same mortality rate.

				D) They have both disappeared for good.

				Q: What do we learn about Ebola Zaire and Ebola Sudan?

				A) 它们表现出了相似的症状。

				B) 它们可以用同一种药物治疗。

				C) 它们拥有几乎相同的致死率。

				D) 它们都永远地消失了。

				问：关于埃博拉病毒扎伊尔型和埃博拉病毒苏丹型，我们了解到什么？

				解题思路：


				1. 四个选项均以they开头，均描述的是they的特征或状态。

				2. 三项提到symptoms、drug、mortality rate等与疾病相关的词。

				结论：本题考查与they相关的内容，应注意听they所指代的内容和与疾病相关的信息。

				解析：题目问我们了解到了有关埃博拉病毒扎伊尔型和埃博拉病毒苏丹型的什么信息。文章提到，埃博拉病毒分为两种类型，即扎伊尔型和苏丹型，它们具有几乎完全一致的症状，A项与此含义一致，故为答案。B项内容在原文中未被提及，故排除；原文提到扎伊尔型比苏丹型更具致命性，故可排除C；原文指出埃博拉病毒只是暂时消失了，D项中的for good意为“永久地”，显然与原文相悖，故该选项也应排除。

				【返回试卷】


				


				24. A) By inhaling air polluted with the virus.

				B) By contacting contaminated body fluids.

				C) By drinking water from the Congo River.

				D) By eating food grown in Sudan and Zaire.

				Q: How did people get infected with the disease according to the speaker?

				A) 通过吸入遭受病毒污染的空气。

				B) 通过接触受感染者的体液。

				C) 通过饮用刚果河的水。

				D) 通过食用生长在苏丹和扎伊尔的食物。

				问：根据讲话者的描述，人们是怎样感染这种疾病的？

				解题思路：


				1. 四项均为介词by+动名词形式的短语，表示“通过某种方式”。

				2. 四个选项中动名词短语的主体分别为inhaling air、contacting contaminated body fluids、drinking water和eating food。

				结论：本题很可能就某种方式提问，且应与感染某种疾病有关。

			

			
				解析：题目问根据讲话者的描述，人们是如何感染这种疾病的。文章中间部分提到了两种病毒在短时间内侵入当地医院，医院共用针头及其他不卫生的做法使人们接触到受感染者的体液，这导致传染迅速蔓延。由此可见，接触到受感染者的体液正是人们感染这种疾病的方式，B项说法与此一致，故为答案。

				【返回试卷】


				


				25. A) More strains will evolve from the Ebola virus.

				B) Scientists will eventually find cures for Ebola.

				C) Another Ebola epidemic may erupt sooner or later.

				D) Once infected, one will become immune to Ebola.

				Q: What does the speaker believe?

				A) 埃博拉病毒将会衍生出更多的种类。

				B) 科学家最终会找到抵抗埃博拉病毒的方法。

				C) 另外一场由埃博拉病毒引起的流行性疾病可能迟早会爆发。

				D) 一个人一旦被感染过，就会对埃博拉病毒产生免疫力。

				问：讲话者相信什么？

				解题思路：


				1. 四个选项均为陈述句，分别陈述的是一种可能或将会发生的情况。

				2. 四项均提到Ebola。

				结论：本题考查与Ebola有关的内容，可能是某人对其的某种观点。

				解析：题目问讲话者相信什么。在文章结尾处讲话者提到，在没有可用的已知疫苗或治疗方法的情况下，下一次传染病毒的爆发似乎只是一个时间的问题，这反映出讲话者的一种推测，即下一次传染病毒引发的流行性疾病迟早都要爆发，C项说法与此一致，故为答案。其他三项文中均未提及，故应排除。

				【返回试卷】


				


				Section C

				听力原文&译文


				The ideal companion machine would not only look, feel, and sound friendly but would also be programmed to behave in an agreeable manner. Those ［26］ qualities that make interaction with other people enjoyable would be simulated as closely as possible, and the machine would appear to be ［27］ charming, stimulating, and easygoing. Its informal conversational style would make interaction comfortable, and yet the machine would remain slightly ［28］ unpredictable and therefore interesting. In its first ［29］ encounter it might be somewhat hesitant and unassuming, but as it came to know the user it would progress to a more ［30］ relaxed and intimate style. The machine would not be a passive ［31］ participant but would add its own suggestions, information, and opinions; it would sometimes take the ［32］ initiative in developing or changing the topic and would have a ［33］ personality of its own.

			

			
				The machine would convey presence. We have all seen how a computer's use of personal names often fascinates people and leads them to treat the machine as if it were almost human. Such features are easily written into the software. By introducing ［34］ a degree of forcefulness and humor, the machine could be presented as a vivid and unique character.

				Friendships are not made in a day, and the computer would be more acceptable as a friend if it simulated the ［35］ gradual changes that occur when one person is getting to know another. At an appropriate time it might also express the kind of affection that stimulates attachment and intimacy.

				理想中的机器伴侣（电脑）不仅仅是看起来友好，感觉友好，听起来友好，它还能被编入程序，以亲和的方式运行。那些能使与他人的交流很愉快的［26］品质被尽可能逼真地模仿，这样电脑就能显得［27］有吸引力、令人兴奋而且易于亲近。电脑的非正式交际方式使交流很惬意，但电脑仍然会有点［28］令人难以预测，因此会很有趣。在与用户第一次［29］交流时，它可能会在某种程度上表现得迟疑和行为温和，但是随着对用户的逐步了解，它会向更加［30］放松和亲密的交流方式发展。电脑不是一个被动的［31］参与者，它会提供自己的建议、信息和观点。它有时会［32］主动深入或改变话题，并且拥有自己的［33］个性。

				电脑会表现出存在感。我们都曾见证过一台电脑使用个人名字的做法是如何经常令人着迷，并引导人们几乎像对待人类一样对待这台电脑。这样的特征能被很容易地编入软件。通过引入［34］一定程度的力度和幽默感，电脑能显现出生动而独特的性格。

				电脑与人类的友谊不是一天就能建立的，而且电脑如果能模仿人与人之间相互了解的过程中所［35］逐步发生的改变，它将会更容易被人接受。在某个合适的时间，电脑也可能会表达出一种情感，这种情感会促进其与人的相互依赖和亲密感。

				【返回试卷】


				


				Part III  Reading Comprehension

				Section A

				社会学习理论的核心概念即“人们通过社会［36］互动来学习他人的态度、信仰及行为方式”。社会学习是通过强化、模仿和以他人为榜样来行事的结果。

				强化现象发生在当我们因为做出某些特定的［37］性别角色行为而直接或间接地受到奖励或惩罚之时。比如，一个使用了妈妈的化妆品的小女孩可能会被告知她化妆后很可爱，但做出同样举动的小女孩的哥哥/弟弟则会遭到［38］训斥。儿童也会通过［39］间接的强化了解性别角色。比如，如果一个小男孩的同性伙伴因为哭泣而受到惩罚，那么他就会学到“男子汉不应该哭鼻子”。

				儿童还通过观察和模仿来学会［40］表现得像男孩或像女孩。即使当儿童没有因为“表现得像男孩”或“表现得像女孩”而受到直接的奖励或惩戒，他们也会通过［41］观察家人的所作所为来了解性别知识。因为总是要工作而［42］很少在家的一位父亲会传递出这样的信息：男人应该赚钱。总是抱怨体重超标或年华老去的一位母亲则会传递这样一种信息：女人应该苗条、年轻。

				因为父母在情绪方面对他们的孩子很重要，他们通常是孩子最［43］有影响力的角色典范。其他的角色典范包括看护人、老师、朋友和名人。根据一项洛杉矶青少年多种族研究的调查结果，那些称自己的角色典范为他们认识的某个人（比如父亲或母亲、亲戚、朋友或者不属于家人的医生）的青少年，比那些角色典范为体育界名人、歌手或其他媒体人物的青少年同伴具有更强的自尊心、更好的学习成绩，使用［44］毒品的几率也更低。研究人员得出的结论是，角色典范的选择对于青少年［45］心理的发展会产生正面或者负面的影响。

			

			
				36. H

				语法判断：空格前是形容词social，故空格处应填入一个名词。

				语义判断：备选项中的名词有gender“性别”、display“展示；炫耀”、interaction“互动；相互影响”、substance“物质；内容”和connection“连接；联系”。将各名词选项代入文中，只有interaction符合语意，social interaction意为“社会互动”。故H为正确答案。

				【返回试卷】


				37. B

				语法判断：本句句子结构完整，可以把思考范围缩小至空格所在的介词短语for particular ______ role behaviors。分析此短语可知，这里缺少一个名词。

				语义判断：符合语法条件的名词还有gender、display、substance和connection。本段讲述了与性别角色行为有关的内容，故此处应填gender。

				【返回试卷】


				38. I

				语法判断：空格前是will be，分析句子结构可知，空格处可填形容词或表被动的过去分词。

				语义判断：符合语法条件的形容词有psychosocial“社会心理的”、indirect“间接的”和powerful“有力的”，过去分词有praised“受表扬的”和scolded“受到责备的”。本句前半部分说使用了妈妈的化妆品的小女孩可能会被告知她化妆后很可爱，空格所在分句以but开头，说明意思发生了转折，应该是说不好的方面。故选I。

				【返回试卷】


				39. D

				语法判断：空格后是名词，这里很可能缺少一个形容词或可作形容词的分词。

				语义判断：符合语法条件的形容词选项有psychosocial、indirect和powerful，可作名词的现在分词有simulating，过去分词有praised。由本段首句可知，本段是在讲直接和间接强化，前半部分讲了直接强化，那么后半部分就要讲间接强化，此处应填indirect，故选D。

				【返回试卷】

				40. N

				语法判断：分析句子结构可知，这里需要填入一个动词原形。

				语义判断：备选项中的动词原形只有两个：display和behave。下文提到了“behaving like boys” or “behaving like girls”，故此处也应填入behave。故选N。

				【返回试卷】

				41. J

				语法判断：空格前是by，故空格处应填现在分词，作介词by的宾语。

				语义判断：符合语法条件的现在分词有simulating和watching。simulate意为“模仿，仿效”，后面一般接模仿的人、物或事情，但空格后并不是特指某个人、物或事，故选watching。

				【返回试卷】

				42. F

				语法判断：分析句子结构可知，本空处于一个由关系代词who引导的定语从句中，从句结构完整，故只能填入副词。

			

			
				语义判断：备选的副词有rarely和usually。空后提到he's always working，故应选rarely，is rarely at home表示“很少在家”。故选F。

				【返回试卷】

				43. O

				语法判断：此处句子结构完整，故空格处可能填入形容词，来修饰role models，而且从most可判断该词为多音节形容词。

				语义判断：备选项中的形容词还有psychosocial和powerful。将二者代入文中，很显然powerful更符合句意，表示“父母通常是孩子最有影响力的角色典范”，故选O。

				【返回试卷】

				44. K

				语法判断：分析句子结构可知，这里缺少一个名词，lower ______ 与空格前面的higher self-esteem和higher grades构成并列结构。

				语义判断：备选项中的名词还有display、substance和connection。由空格后的use可知，只有substance正确，substance在此引申为“毒品”。故选K。

				【返回试卷】

				45. A

				语法判断：分析句子结构可知，这里需要一个形容词，来修饰空格后的名词development。

				语义判断：备选项中的形容词只剩下psychosocial，意为“社会心理的”。故A为正确答案。

				【返回试卷】

				


				Section B

				高强度重量训练


				A) 莫里斯·汉克·格林伯格是保险服务机构美国国际集团（AIG）的前首席执行官，每周一次，他会离开自己位于公园大道的办公室，穿过纽约中央公园，来到时髦的上西区的一间地下室。地下室位于一栋赤褐色砂石面大楼里，里面堆满了鲁布·戈德堡样式的器械。87岁的格林伯格先生以其强硬的观点闻名于商界，他那非凡的体力就是在这间拥挤的地下室里锻炼出来的。

				B) ［51］格林伯格是纽约一小群业务繁忙的企业高管之一，他们朝圣般地定期造访一家叫作“认真的力量”的健身房，这里专门提供一种名为“高强度耐力训练”的健身训练，学员每周仅用半个小时就可以完成一套全身锻炼。不同于花费数小时在跑步机上慢跑或蹬踏自行车来锻炼，高强度重量训练不仅具有有氧运动的全部优势，还增强了力量训练，所花时间也只是传统健身的一小部分。

				C) 格林伯格吹嘘说：“我能推或拉的重量是我自身体重的几倍。”如今，格林伯格是金融服务公司CV Star & Co的董事长兼首席执行官。“我现在的运动强度比我以往生活中所有训练的强度都要大。一周只需要30分钟，你就能看到自己在训练中的进步，这种感觉真好。” 

				D) 自20世纪80年代起，高强度重量训练就已经有人尝试。当时，一位名叫阿瑟·琼斯的企业家开始生产“鹦鹉螺”牌健身器材。［48］不过，直到最近，这种锻炼方法的优越性才获得足够的科学支持。

			

			
				E) ［46］来自南卡罗来纳州急诊中心的内科医生道格·麦古菲所著的《身体的科学》以及格林伯格常去的那家纽约健身中心的所有者弗雷德·哈恩所著的《慢燃烧健身革命》等书，描述了通过非常缓慢的运动彻底锻炼多个肌肉群的科学原理。在实际运动中，高强度健身法包含5组或6组练习，每组只是以极其缓慢的速度重复5-6次或仅仅15分钟的实际负重锻炼。一些提倡高强度健身法的人（例如麦古菲）认为，每周只锻炼一次就足够了，但哈恩和其他人则更喜欢一周进行两次锻炼。

				F) ［52］哈恩指出，高强度耐力练习可改善血压指标，增加血液中良性胆固醇含量，降低甘油三酸酯水平，维持血糖浓度，提高胰岛素敏感性；这种锻炼方法不仅可以增强肌肉力量，还可以提高肌肉耐力。同时，麦古菲从医学角度指出了高强度健身法的好处。他说，该方法有助于消除“糖尿病、高血压、痛风和高胆固醇，以及久坐和食用快餐所导致的一切不良后果”。

				G) 尽管健身风潮来了又去，但高强度健身法是不多见的倡导人们减少实际锻炼时间的方法。铁杆健身迷们对其是否真的比在健身房进行数小时的锻炼更优越提出质疑，但像哈恩这样的支持者认为，如果花费更少的健身时间就能取得如此出色的效果，又有什么必要花那么长时间来锻炼肌肉呢？［54］支持者们还指出，不管做多少运动，每个人的强壮程度或者肌肉增大程度都会受到基因的限制。

				H) 或许有悖于人们的直观感受，高强度健身法在欧洲的受欢迎程度似乎比在热衷健身的美国更高。大约10年前，高强度健身潮流曾在美国短暂地风靡过一阵，随后便从杂志封面上消失了。麦古菲认为，这部分是因为近期支持高强度健身法的科学研究主要来自欧洲和加拿大的大学。另外一个原因在于欧洲人缺少北美人那种“越多越好”的文化理念。这种认为锻炼时间总是越长越好、强度总是越大越好的健身观念，使得人们对一套将控制健身时长和频率作为取得健身效果的途径的运动方式持更加怀疑的态度。

				I) ［47］尽管高强度健身可以用杠铃甚至体重为负重，但绝大多数专门提供这种训练方式的健身房使用最初由琼斯发明的诸如“鹦鹉螺”和Med-X等牌子的健身器械。这是由于竭尽全力推举一个未被固定的重物可能会有危险。这些器械在多个关节点可进行旋转，可以同时活动多个肌肉群，进而缩短健身总时间。

				J) ［49］至少在初始阶段，高强度健身法由一套被称为“五大类”的训练组合构成，即坐姿划船、推胸训练、下拉训练、推肩训练以及压腿运动，每组训练做90秒左右。麦古菲表示，如果这些动作以极慢的速度完成，并用尽全力，再辅以几天的恢复性休息，他甚至只做三组训练就能达到很好的效果。

				K) 总部位于苏黎世的基泽健身集团公司已经开始利用这套健身方法吸引商务人士，该集团在欧亚两洲均成立了数家高强度健身中心。“我们的目标客户是愿意认真锻炼的中年职业企业高管，健身房里不放音乐，墙上也不装镜子，更没有果汁吧。［55］我们不是为典型的健身房用户设计的，而是为不喜欢典型的健身房的人而设计的。”基泽健身伦敦肯顿集市店负责人、德国人马塞尔·哈斯特斯说。

				L) 对那些经常出差的企业高管来说，基泽尤其具有吸引力。花费580英镑办理年卡之后，就可以在出差时使用从苏黎世到澳大利亚的任何一家基泽健身中心。基泽健身中心使用由已故的阿瑟·琼斯的旗下企业授权使用的特制器材。该健身中心还专门提供康复训练以及单纯的健身训练。

				M) 住在伦敦金融城附近的Screen Digest电子游戏分析师史蒂文·贝利表示，自己已在基泽健身锻炼了三年，这使他的生活发生了改变。［50］贝利认为，基泽非常适合像他那样生活中久坐且终日伏案的人。在去基泽锻炼之前，他通常在下午三点左右就感到精疲力竭，而现在他的精力充沛多了。

				N) 令人印象特别深刻的是基泽健身中心的一款器械，它看起来就像是西班牙宗教法庭上使用的某样物品。一旦你坐上这台器械并扣紧皮带，你的下半身和臀部就被固定了，藉此该器械可以准确测出你下背部肌肉群的力量——通常来说，伏案工作的企业高管这个部位比较薄弱。基泽的这台器械有一个计算机数据库，可以将你的背部肌肉力量与相同年龄段的其他人进行比较，并能通过训练来增强这一部位的肌肉。

			

			
				O) 大约6年前，阿拉斯泰尔·麦克莱伦开始去基泽肯顿集市店健身，以缓解自己的背部问题。这位48岁的《健康服务期刊》编辑表示，每周仅一次的短时间训练能让他变得强壮，还能解决他的背部问题，这能让他很好地利用自己的时间。这还让他有时间进行更多的运动。现在，他几乎每天都骑自行车去上班。

				P) 不过，高强度健身法的支持者们承认，虽然这套方法益处多多，但仅凭这一方法或其他任何一套健身运动，都不太可能帮助高管们完全减掉因长年享用公司报销午餐所带来的难看的肚腩。［53］对于这一点，改变饮食结构是最重要的途径。

				


				46. Some books on health give a scientific account of how slow movements are used to practice muscles. 

				一些关于健康方面的书籍科学地解释了如何使用慢速运动来锻炼肌肉。

				答案：E 

				解析：注意抓住题干中的关键词books on health和slow movements。E段首句谈到，《身体的科学》和《慢燃烧健身革命》等书介绍了通过非常缓慢的动作彻底锻炼多个肌肉群的科学原理。题干是对原文的同义转述。题干中的gave a scientific account of对应原文中的describe the scientific basis for。

				【返回试卷】

				


				47. By exercising with machines devised by Jones, fitness lovers can train a large group of their muscles at one time and shorten the total exercise time. 

				通过利用琼斯发明的器械来锻炼，健身爱好者们可以同时训练他们的多个肌肉群，进而缩短运动总时间。

				答案：I 

				解析：注意抓住题干中的关键词machines devised by Jones和 shorten the total exercise time。I段第一句说，大多数专门提供高强度训练的健身房最初使用由琼斯发明的健身器械。第三句提到，这些器械可以同时活动多个肌肉群，进而缩短健身总时间。由此可知，题干是对原文这两句话的同义概括。

				【返回试卷】

				


				48. High-intensity training has recently received enough scientific support to prove its effectiveness of keeping good health. 

				直到最近，高强度训练才获得足够的科学支持，证明它在保持身体健康上的有效性。

				答案：D 

				解析：注意抓住题干中的关键词enough scientific support。D段后半部分提到，直到最近，高强度重量训练的优越性才获得足够的科学支持。题干是对原文的同义转述。题干中的to prove its effectiveness of keeping good health对应原文中的to back up its superiority as a workout。

				【返回试卷】

				


				49. At first, high-intensity training includes five kinds of exercises and each lasts for around one and a half minute. 

			

			
				起初，高强度训练包含五种练习，每一种的练习时长为1分半左右。

				答案：J

				解析：注意抓住题干中的关键词five kinds of exercises和around one and a half minute。J段首句提到，至少在初始阶段，高强度健身法由一套被称为“五大类”的训练组合构成，每组训练做90秒左右。题干是对原文的同义转述。题干中的five kinds of exercises对应原文中的“the big five”，题干中的one and a half minute对应原文中的90 seconds。

				【返回试卷】

				


				50. A video games analyst thinks it's suitable for people sitting at a desk all day to do high-intensity exercises in the gym of Kieser Training. 

				一名电子游戏分析师认为，整日坐在桌子前的人适合去基泽健身馆做高强度训练。

				答案：M

				解析：注意抓住题干中的关键词A video games analyst和sitting at a desk all day。只有M段提到了电子游戏分析师贝利。本段第二句说，贝利觉得基泽非常适合像他这样生活中久坐并且终日伏案的人。题干是对原文的同义转述。题干中的suitable对应原文第二句中的great。

				【返回试卷】

				


				51. A few business managers spend time on high-intensity resistance training regularly. 

				一些企业经理定期花时间进行高强度耐力训练。

				答案：B

				解析：注意抓住题干中的关键词business managers和regularly。B段第一句提到，一些企业高管定期造访健身房，进行高强度耐力健身训练。题干是对原文的同义转述。题干中的A few对应原文中的a small group of...executives。

				【返回试卷】

				


				52. Exercising in a highly intense way cannot only make strong and enduring muscles, but also has some other benefits. 

				高强度练习不仅能使肌肉强壮和有耐力，还有许多其他好处。

				答案：F

				解析：注意抓住题干中的关键词make strong and enduring muscles。F段中哈恩讲述高强度耐力训练的许多好处，其中一点就是增强肌肉力量，提高肌肉耐力。题干是对原文的逻辑概括。原文中的high-intensity resistance对应题干中的Exercising in a highly intense way，题干中的make strong and enduring muscles对应原文中的builds not only muscular strength but muscular endurance。

				【返回试卷】

				


				53. For senior managerial staff, the key to keeping good health is improving the food structure. 

				对高级管理人员来说，保持健康的关键在于改善饮食结构。

			

			
				答案：P

				解析：注意抓住题干中的关键词improving the food structure。P段第一句说，高管们因长年享用公司报销的午餐而有肚腩。最后一句提到，要想减掉高管们的肚腩，改善饮食结构才是最重要的方法。由此可知，题干是对原文的同义概括。题干中的the key对应原文中的the most important ingredient，题干中的improving the food structure对应原文中的dietary changes。

				【返回试卷】

				


				54. Some exercisers believe that genes decide one's physical strength or muscular power regardless of the amount of exercise. 

				一些锻炼者认为，基因决定一个人的身体强壮程度或肌肉力量，与运动量的多少无关。

				答案：G

				解析：注意抓住题干中的关键词genes和regardless of the amount of exercise。G段最后一句提到，高强度健身法的支持者们指出，不论进行多少运动，每个人的强壮程度或者肌肉增大的程度都会受到基因的限制。题干是对原文的同义转述。题干中的genes decide对应原文中的has a genetic limit，题干中的regardless of the amount of exercise对应原文中的no matter how much exercise they do。

				【返回试卷】

				


				55. People who attach importance to traditional training are not the target customers of Kieser Training.

				重视传统健身的人不是基泽健身的目标客户。

				答案：K

				解析：注意抓住题干中的关键词target customers和traditional exercise。K段最后一句提到，基泽健身伦敦肯顿集市店负责人马塞尔·哈斯特斯表示：“我们不是为典型的健身房用户设计的，而是为不喜欢典型的健身房的人设计的。” 也就是说，基泽健身的目标客户不是典型的健身房用户，典型的健身房用户即喜欢传统健身的人，题干是对原文的同义转述。

				【返回试卷】


				


				Section C

				Passage One


				劳工统计局的报告与预计的一样令人沮丧。［56］一月份的失业率跃升至16年来的新高，达到7.6%。美国就业人数创下了自1974年12月以来的最大单月跌幅，59.8万个就业岗位遭到了削减。在过去三个月里，180万个工作岗位不复存在，人们迫切渴望能尽快提振经济。然而，在对这些严峻的数字作出反应之前，华盛顿（美国政府）还是先做个深呼吸（冷静一下）为好。

				总体而言，我们依赖于失业数据和其他数据来对现实情况作出判断。我们利用一系列的数据来判断现状是好是坏，而这些数据反过来又能左右政府政策、企业预算以及个人消费决定，失业数据及其他数据只是此类数据中的一个重要部分。［57］问题在于，这些数据并不能客观地衡量现实情况，它们只是最佳的近似值。就方向而言，它们能够体现出趋势，但如何准确地获知失业人数还是个谜。这就使得寻求解决之道难上加难。

			

			
				首先是收集数据的方式。官方公布的失业率是对6万家庭进行电话调查的结果。［58］另外还有一种调查方式，有时被称为“薪资名单调查”，即根据40万家企业报告的薪资名单评估得出。两种调查都存在问题。薪资名单调查很容易把一个人算成两个人，如果某个人拥有两份工作，结果会显示为两个人有工作。薪资名单调查也无法获取个体经营的那部分人数，所以，对有多少人拥有独立收入基本无法得出结果。

				家庭调查的问题更突出。［59］当人们被直截了当地问及有关性别、金钱或就业问题时，往往会撒谎或隐瞒事实。如果你接到一个电话，对方问你是否拥有一份工作，你给予肯定回答的话，你就被认定为有工作。而如果你给出否定回答，则会很惊讶地了解到，只有在过去四个星期里积极寻找工作却无果才能算失业，否则你只是“游荡在劳动力市场的边缘”，而不是真正意义上的失业。

				凡事都要求用数字说话的理念已经在我们的社会中根深蒂固。而统计学家掌握客观情况也并非不可能。但这也会导致严重的判断错误。［60］民主党人和共和党人可以，而且也会在许多问题上有一定的倾向，但更关键的问题在于，这两个党派都基于猜测性的估计来进行重大的政策决定，而不会用批判性的眼光和开放的心态来研究大量的原始数据。

				


				【议论文：失业率的统计数据存在偏差，这对政策的制定会造成影响。】

				第一段：劳工统计局的就业报告很令人沮丧，政府需要制定合适的政策。

				第二段：失业数据和现实情况存在偏差，提升了解决问题的难度。

				第三、四段：分别介绍两种收集就业数据的调查方式的弊端，指出这使得调查结果与客观情况不符。

				第五段：政策制定者应该依据准确的数据严谨地制定重大决策。

				


				56. What do we learn from the first paragraph?

				A) The U.S. economic situation is going from bad to worse.

				B) Washington is taking drastic measures to provide more jobs.

				C) The U.S. government is slashing more jobs from its payrolls.

				D) The recent economic crisis has taken the U.S. by surprise.

				我们从第一段中了解到什么？

				A) 美国的经济情况进一步恶化了。

				B) 华盛顿（美国政府）正采取严厉措施以提供更多的工作岗位。

				C) 美国政府正从它的薪资名单中削减更多的工作岗位。

				D) 美国没有预料到最近的经济危机。

				定位：根据题干的信息词the first paragraph，可以把答题线索定位到第一段。

				解析：第一段第二句指出：“一月份的失业率跃升至16年来的新高，达到7.6%。美国就业人数创下了自1974年12月以来的最大单月跌幅，59.8万个就业岗位遭到了削减。” “新高”和“最大单月跌幅”的说法说明美国的经济进一步恶化了，故答案为A。由本段最后一句可知，政府还未采取措施，选项B不符合文意。工作岗位被削减是由经济危机造成的，并不是美国政府的行为，故排除C。文中提到“劳工统计局的报告与预计的一样令人沮丧。” 可见对于这次经济危机的严重性人们早已经心中有数，并非毫无征兆，故谈不上没有预料到，D也可排除。

			

			
				【返回试卷】

				


				57. What does the author think of the unemployment figures and other statistics?

				A) They form a solid basis for policy making.

				B) They represent the current situation.

				C) They signal future economic trends.

				D) They do not fully reflect the reality.

				作者是如何看待失业数据和其他数据的？

				A) 它们为政策的制定奠定了坚实的基础。

				B) 它们体现了当前的情况。

				C) 它们预示了将来的经济趋势。

				D) 它们未能完全反映现实情况。

				定位：根据题干的信息词the unemployment figures and other statistics，可以把答题线索定位到第二段第一句。

				解析：第二段针对数据问题展开讨论，第三句提到：“问题在于，这些数据并不能客观地衡量现实情况，它们只是最佳的近似值。” 可见，这些数据无法完全反映现实情况，故答案选D，同时可排除B。本段提到，这些数据能影响政府制定政策，但由于这些数据无法客观地反映现实，不够准确，使得寻求解决之道难上加难，可知这些数据无法为政策的制定奠定坚实的基础，故排除A。倒数第二句提到“就方向而言，它们能够体现出趋势”，这里指就业形势不断恶化的趋势，并非指将来的经济趋势，也可排除C。

				【返回试卷】


				


				58. One problem with the payroll survey is that ______.

				A) it does not include all the businesses

				B) it fails to count in the self-employed

				C) it magnifies the number of the jobless

				D) it does not treat all companies equally

				薪资名单调查的一个问题在于______。

				A) 它没有把所有的企业囊括在内

				B) 它未能把个体经营者计算在内

				C) 它夸大了失业人数

				D) 它没有公平地对待所有公司

				定位：根据题干的信息词problem和the payroll survey，可以把答题线索定位到第三段第三至第六句。

				解析：第三段第三句引出payroll survey（薪资名单调查）的概念，接着第四句指出两种收集数据的调查方式都存在问题，然后第五、六句具体指出“薪资名单调查”这种方式的问题所在，指出“薪资名单调查也无法获取个体经营的那部分人数”，可知答案为B。文中提到了40万家企业，但问题不在于企业的数量，所以排除A。第五句指出“薪资名单调查很容易把一个人算成两个人，如果某个人拥有两份工作，结果会显示为两个人有工作。” 由此可知，这种方法实际上使统计出的失业人数减少了，故C错误。文中没有提及是否公平对待所有公司的问题，也排除D。

			

			
				【返回试卷】

				


				59. The household survey can be faulty in that ______.

				A) people tend to lie when talking on the phone

				B) not everybody is willing or ready to respond

				C) some people won't provide truthful information

				D) the definition of unemployment is too broad

				家庭调查存在缺陷是因为______。

				A) 人们在讲电话时往往会撒谎

				B) 并非每个人都愿意或已准备好回答

				C) 一些人不会提供真实的信息

				D) 失业的定义太宽泛了

				定位：根据题干的信息词the household survey和faulty，可以把答题线索定位到第四段第一句。

				解析：本段第一句指出家庭调查这种方式的问题更突出，后面具体说明该方式的缺陷和问题。第二句指出“当人们被直截了当地问及有关性别、金钱或就业问题时，往往会撒谎或隐瞒事实。” 即得到的信息并不真实可靠，故答案为C。第二句并没有特别强调人们在讲电话时往往会撒谎，排除A。文中并未提及被调查者是否愿意或已准备好回答问题，排除B。由本段最后一句可以看出，失业的定义较为狭窄，选项D与文意相悖。

				【返回试卷】


				


				60. At the end of the passage, the author suggests that ______.

				A) statisticians improve their data assembling methods

				B) decision makers view the statistics with a critical eye

				C) politicians listen more before making policy decisions

				D) Democrats and Republicans cooperate on crucial issues

				在文章的末尾处，作者建议______。

				A) 统计学家改善他们的数据收集方法

				B) 决策者要以批判性的眼光看待数据

				C) 政治家在作出政策决定前应多倾听

				D) 民主党人和共和党人在重大问题上应相互协作

				定位：根据题干的信息词at the end of the passage，可以把答题线索定位到最后一段，尤其是文章的末尾处。

				解析：最后一段最后一句指出：“民主党人和共和党人可以，而且也会在许多问题上有一定的倾向，但更关键的问题在于，这两个党派都基于猜测性的估计来进行重大的政策决定，而不会用批判性的眼光和开放的心态来研究大量的原始数据。” 即作者认为决策者应该以批判性的眼光看待数据，故答案为B。作者并没有提到要改善数据收集方法和多倾听，可排除选项A和C。文中提到“民主党人和共和党人可以，而且也会在许多问题上有一定的倾向”，并非指这两个党派应该相互协作，选项D与文意不符，应排除。

			

			
				【返回试卷】

				


				Passage Two


				在2008年的某一刻，某个人（很可能是亚洲人或者非洲人）决定从农村移居到城市。这位不知名的人推动人类跨越了一道历史性的门槛，［61］ 因为正是在那一年，人类有史以来第一次成为主要生活在城市里的种群（即世界上城市居民的人数首次超过农村居民的人数）。

				［62］ 这一趋势没有减缓的迹象。人口统计学家预计，到2050年世界人口将有四分之三居住在城市，其中大部分新增城市人口来自于亚洲和非洲发展迅速的城镇。人们移居城市是受到城市中大量的工作岗位以及能够获得医疗和教育资源的吸引，此外，城市还使他们能够逃离当农民的枯燥农业生活。这些因素足以使一些刚刚移居到城市的人愿意住在环境肮脏、疾病肆虐、极度贫困的城市区域，这是很多城市新移民在最初阶段都肯定经常忍受的事实。

				正是城市激发了彼得·史密斯的新作的灵感。他的主要观点是“忙碌的城市生活以及这种生活提供给人们的合作、协作的机会，既是吸引人们来到城市的因素，反过来也使城市变成了艺术、商业、科学与进步的引擎。” 这一观点谈不上具有颠覆性，但它呈现出来的形式却是那样的迷人。［63］ 史密斯先生的新作是一本轻松愉快的指导手册，书中有一系列短小的章节，这些章节致力于描写城市风格的独特方面——比如公园，或者近几年来为建设完美城市而推出的各种各样的方案。这种创作的结果就是，这本书成为了一本高质量的、异常严谨的咖啡桌书籍，其设计旨在适合随便翻阅，而不适合从头至尾仔细品读。

				例如，在讲述摩天大楼的一章中，史密斯先生谈到了建筑方法，谈到了革命性的自动电梯的发明，谈到了居住在云端的可行性以及由于城市正变得越来越拥挤，居住在公寓楼里将成为一种生活常态的可能性。但是，书中有时也会出现一些奇谈怪论作为短暂的消遣，例如对摩天大楼指数的讨论（［64］ 摩天大楼指数认为摩天大楼越盖越多是经济即将开始衰退的可靠标志）。

				［65］ 对于这本书的一个明显的批评就是它只有广度而没有深度——史密斯先生的许多散文中提出的问题与他所解答的问题一样多。虽然史密斯的这种做法确实让人感到沮丧，但是面对“城市”这样一个如此庞大的话题，这可能是唯一的处理方式。文明，以及人们所做的几乎每一件事，都以城市为基本素材——因此，一本城市指导手册实际上是关于一个庞大的、人数日益增长的人类群体选择如何生活的指导手册。史密斯先生的著作对这一宽泛的话题起到了很出色的引导作用，它将吸引人们对于“城市”这个庞大的话题展开大量的、深入的研究。

				


				【评论文：本文通过城市化现象引出了彼得·史密斯的新作，并对这本新作进行了一番评论。】

				第一段：以一种形象逼真的方式讲述了标志着人口城市化转折点的2008年。

				第二段：对城市化的未来进行预测，并分析了人们移居城市的原因。

				第三段：引出彼得·史密斯的新作，并介绍了该书的主题和风格。

				第四段：以关于摩天大楼的章节为例进一步介绍了彼得·史密斯的新作的特点。

				第五段：对彼得·史密斯的新作进行总结性点评，指出这本书的缺点和意义所在。

				


				61. In what way is the year 2008 historic?

				A) For the first time in history, urban people outnumbered rural people.

			

			
				B) An influential figure decided to move from the countryside to the city.

				C) It is in this year that urbanisation made a start in Asia and Africa.

				D) The population increase in cities reached a new peak in Asia and Africa.

				从什么方面看，2008年是具有历史意义的一年？

				A) 在人类历史上，城市人口首次超过农村人口。

				B) 一名具有影响力的人物决定从乡村移居到城市。

				C) 正是在这一年，亚洲和非洲开始城市化。

				D) 亚洲和非洲的城市人口的增长达到了一个新的高峰。

				定位：根据题干中的年份信息2008和信息词historic可定位到文章第一段。

				解析：historic一词出现在文章第一段第二句的前部，本题答案可以从本句for后面的内容得知。后文提到，“因为正是在那一年，人类有史以来第一次成为主要生活在城市里的种群”，换句话说即“世界上城市居民的人数在2008年首次超过农村居民的人数”，对应选项A。选项B中的“一名具有影响力的人物”与文章第一段第二句中提到的“不知名的人（nameless person）”概念正好相反，但即使B选项更正了这一细节也仍然不可选，因为2008年成为有历史意义的一年不是因为某人从农村移居城市这一表面现象，而是由此引发的深层次的历史发展的质变。文章第一段首句虽然提到了亚洲和非洲，但是并没有说亚洲和非洲在2008年才开始城市化，故C不可选。D选项的内容文章中并没有提到，故也可排除。

				【返回试卷】


				


				62. What does the author say about urbanisation?

				A) Its impact is not easy to predict.

				B) Its process will not slow down.

				C) It is a milestone in human progress.

				D) It aggravates the squalor of cities.

				关于城市化，作者是怎么说的？

				A) 城市化的影响不易预测。

				B) 城市化的进程不会减速。

				C) 城市化是人类进步的里程碑。

				D) 城市化加重了城市的肮脏程度。

				定位：题干中的信息词urbanisation虽然没有在文章中出现，但是第一段末出现了urban一词，以此推断，这道题的答案定位处应该在第二段的开头。

				解析：第二段的开头提到：“这一趋势没有减缓的迹象。” 文章中所说的“这一趋势”指的就是“城市化的发展趋势”，“没有减缓的迹象”即对应选项B。选项A说城市化的影响不易预测，这与文章内容相悖，因为文章给出了明确的预测——人口统计学家预计到2050年世界人口将有四分之三居住在城市，其中大部分新增城市人口来自于亚洲和非洲发展迅速的城镇。所以A不可选。C选项的内容文章并没有提到，所以也可排除。D选项中的squalor（肮脏）一词在文章中虽然出现了，但是文章中说的是城市中本身存在的肮脏，而不是城市化加重了城市的肮脏程度，这个干扰项很有迷惑性。

				【返回试卷】

				


			

			
				63. How does the author comment on Peter Smith's new book?

				A) It is but an ordinary coffee-table book.

				B) It is flavoured with humourous stories.

				C) It serves as a guide to arts and commerce.

				D) It is written in a lively and interesting style.

				作者怎样评论彼得·史密斯的新书？

				A) 这本书只是一本普通的咖啡桌书籍。

				B) 这本书因一些幽默的故事而别具风味。

				C) 这本书是艺术和商业的指南。

				D) 这本书的写作风格活泼有趣。

				定位：根据题干中的人名Peter Smith和题文同序的原则可以将答案定位到文章第三段。

				解析：文章第三段主要介绍了彼得·史密斯的新作的主题和风格。文章中说这本书是一本轻松愉快的指导手册，D选项的lively意为“活泼的”，与文意相符，故D为正确答案。B选项说书中有幽默的故事，文章中没有提到这一点，故不可选。C选项中提到了“艺术和商业”，虽然文章中也出现了“艺术和商业”，但是这与本书无关，C不正确。A选项有很强的干扰性，因为文章中提到了这本书属于咖啡桌书籍，但是它并非一本“普通的”咖啡桌书籍，文中用“高质量的、异常严谨的”来形容这本书，所以A不可选。

				【返回试卷】


				


				64. What does the author say in the chapter on skyscrapers?

				A) The automatic lift is indispensable in skyscrapers.

				B) People enjoy living in skyscrapers with a view.

				C) Skyscrapers are a sure sign of a city's prosperity.

				D) Recession closely follows a skyscraper boom.

				在讲述摩天大楼的章节中，作者（彼得·史密斯）说了什么？

				A) 自动电梯是摩天大楼所不可缺少的。

				B) 人们很享受居住在可以观景的摩天大楼中。

				C) 摩天大楼一定预示着城市的繁荣。

				D) 经济衰退紧跟在摩天大楼的急剧增多之后。

				定位：根据题干信息词skyscrapers可以将答案定位到文章第四段。

				解析：文章第四段结尾处括号中的内容解释了摩天大楼指数这一概念，摩天大楼指数认为摩天大楼越盖越多是经济即将开始衰退的可靠标志，这对应选项D。文章中虽然提到了自动电梯，但是并没有说“自动电梯是摩天大楼所不可缺少的”，所以A选项不对。文章中谈到人们尝试居住在云端，但是并没有说“人们很享受居住在可以观景的摩天大楼中”，所以B选项不可选。C选项内容与文意正好相反，直接排除。

				【返回试卷】

				


				65. What may be one criticism of Mr Smith's book?

			

			
				A) It does not really touch on anything serious.

				B) It is too long for people to read from cover to cover.

				C) It does not deal with any aspect of city life in depth.

				D) It fails to provide sound advice to city dwellers.

				史密斯先生的书可能遭到的一种批评是什么？

				A) 这本书没有真正谈及任何严肃的事情。

				B) 这本书太长以至于人们无法从头读到尾。

				C) 这本书没有深入探讨城市生活的任何方面。

				D) 这本书没有给城市居民提出合理的建议。

				定位：根据题干信息词criticism可以定位到文章末段首句。

				解析：文章末段首句说“对于这本书的一个明显的批评就是它只有广度而没有深度”，正好对应C选项。A选项的说法过于片面，不可选。B选项中的“从头读到尾”虽然在文章中被提到过，但这是这本书的特色和定位，并不是它的缺点，故B不正确。D选项所说内容在文章中并没有提到，可能遭到批评也就无从谈起。事实上本文作者对彼得·史密斯的新作总体上持肯定态度，这从文章最后一句“史密斯先生的著作对这一宽泛的话题起到了很出色的引导作用，它将吸引人们对于‘城市'这个庞大的话题展开大量的、深入的研究”可见一斑。

				【返回试卷】

				


				Part IV  Translation

				参考译文


				China's health watchdog1 has decided to set up a national network to monitor the impact of air pollution on human's health2 within the coming three to five years. The goal was revealed in a work document on air pollution released by National Health and Family Planning Commission. According to the document, the network will gather data on PM2.5 in the air3 in different regions and the density changes of main air pollutants. That will provide data support for the analysis and evaluation of the impact of air pollution on health. The document noted that lack of long-term and systematic monitoring prevented the country from uncovering the link between air pollution and human's health4.

				译点精析


				1.　卫生监督部门：翻译为health watchdog或health supervision department。

				2.　监测空气污染对人类健康的影响：翻译为monitor the impact of air pollution on human's health，其中monitor 表示“监测，监控”；“对……的影响”应译为the impact on...或者the influence on...。

				3.　空气中的PM2.5：翻译为PM2.5 in the air。PM2.5即细颗粒物，指空气中空气动力学当量直径小于或等于2.5微米的颗粒物，能较长时间悬浮于空气中，其在空气中的含量（浓度）越高，就代表空气污染越严重。

				4.　缺乏长期而系统的监测使国家无法揭示空气污染和人类健康之间的联系：翻译为lack of long-term and systematic monitoring prevented the country from uncovering the link between air pollution and human's health。“监测”是monitoring；“使……无法做……”可译作prevent...from...；“联系”用link或connection来表示。
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